

T-01-20 Addendum 6 Insituform Technologies, LLC Supplier Response

Event Information

Number: T-01-20 Addendum 6

Title: Cured In Place Pipe Rehabilitation, Annual Contract

Type: Invitation To Bid Issue Date: 10/10/2019

Deadline: 11/19/2019 02:00 PM (ET)

Notes: Sealed Bids for **Bid T-01-20**, **Cured-In-Place Rehabilitation**, **Annu**

al Contract will be received until 2:00 p.m. (local), on November 12, 2019. Bids must be submitted electronically through the eBid System on or before the due date/time stated above. Bid openings are open to the public. All bidders and/or their representatives are invited to be present. A list of bidders will be read aloud in a public forum. Bidder pricing will be made public only when tabulation is posted. Any bid received after the due date and time specified, will not be considered. Any uncertainty regarding the time a bid is received will be resolved against the Bidder.

Bidder must be registered on the City's eBid System in order to view the bid documents and plans and respond to this solicitation. The complete solicitation document can be downloaded for free from the eBid System as a pdf at: https://pompanobeachfl.ionwave.net. The City is not responsible for the accuracy or completeness of any documentation the Bidder receives from any source other than from the eBid System. Bidder is solely responsible for downloading all required documents.

Contact Information

Contact: Tammy Thompkins

Address: Purchasing

1190 NE 3rd Avenue

Building C

Pompano Beach, FL 33060

Phone: (954) 786-4098 Fax: (954) 786-4168

Email: purchasing@copbfl.com

Insituform Technologies, LLC Information

Address: 17988 Edison Avenue'

Chesterfield, MO 63005

Phone: (636) 530-8000 Fax: (636) 530-8701

By submitting this Response I affirm I have received, read and agree to the all terms and conditions as set forth herein. I hereby recognize and agree that upon execution by an authorized officer of the City of Pompano Beach, this Response, together with all documents prepared by or on behalf of the City of Pompano Beach for this solicitation, and the resulting Contract shall become a binding agreement between the parties for the products and services to be provided in accordance with the terms and conditions set forth herein. I further affirm that all information and documentation contained within this response to be true and correct, and that I have the legal authority to submit this response on behalf of the named Supplier (Offeror).

Diane Partridge	dpartridge@aegion.com
Signature	Email
Submitted at 11/19/2019 10:21:23 AM	

Requested Attachments

Qualification of Bidders Form

Bid Proposal Qualifications Pages City of Pompano Beach, FL Insituform Technologies LLC.pdf

Qualification of Bidders Form from the attachments tab must be completed and uploaded to this tab.

Local Business Program Forms

Local Business Program Forms - T-01-20 - Insituform Technologies LLC.pdf

Local Business Program These forms must be completed and uploaded to the Response Attachments tab.

T1 T2 Form Local Business Form

Tier 1 Tier 2 Compliance Form - Insituform Technologies LLC.pdf

To comply with the City's Local Business Program as a Tier-1 or Tier-2 vendor, you must complete this form and uploa d it to the Response Attachments tab.

Bid Bond Form

Bid Bond - City of Pompano - T-01-20 CIPP Annual Contract - Insituform Technologies, LLC.pdf

Bid Bond Form from the attachments tab must be completed and uploaded to this tab

Response Attachments

Full Bid Package - T-01-20 - Insituform Technologies LLC.pdf

Full Bid Package T-01-20 Insituform Technologies LLC

Bid Attributes

1 Substantial Project Completion

Provide the number of calendar days that the construction of the Project will be substantially complete after the date when the Contract Time commences to run as provided in the general conditions.

365

2 Final Project Completion

Provide the number of calendar days, after the substantial completion date, that the construction of the Project will be completed and ready for final payment.

365

3 Conflict of Interest

For purposes of determining any possible conflict of interest, all bidders must disclose if any City of Pompano Beac h employee is also an owner, corporate officer, or employee of their business. Indicate either "Yes" (a City employee is also associated with your business), or "No". (Note: If answer is "Yes", you must file a statement with the Supervis or of Elections, pursuant to Florida Statutes 112.313.)Indicate Yes or No below with the drop down menu.

No

4 Drug-Free Workplace

Preference must be given to Contractors submitting certification with their bid or proposal, certifying they have a dru g-free workplace in accordance with Florida Statutes, Section 287.087. This requirement affects all public entities of the State and becomes effective January 1, 1991. Preference shall be given to businesses with drug-free workplace programs. Whenever two or more bids which are equal with respect to price, quality and service are received by the State or by any political subdivision for the procurement of commodities or contractual services, a bid received from a business that certifies that it has implemented a drug-free workplace program shall be given preference in the aw ard process. Established procedures for processing tie bids will be followed if none of the tied vendors have a drugfree workplace program. In order to have a drug-free workplace program, a business shall: (1) Publish a statement notifying employees that the unlawful manufacture, distribution, dispensing, possession, or use of a controlled subst ance is prohibited in the workplace and specifying the actions that will be taken against employees for violations of s uch prohibition. (2) Inform employees about the dangers of drug abuse in the workplace, the business's policy of m aintaining a drug-free workplace, any available drug counseling, rehabilitation and employee assistance programs, and the penalties that may be imposed upon employees for drug abuse violations. (3) Give each employee engage d in providing the commodities or contractual services that are under bid, a copy of the statement specified in subse ction (1). (4) In the statement specified in subsection (1) notify the employees that as a condition of working on the commodities or contractual services that are under bid, the employee will abide by the terms of the statement and wi Il notify the employer of any conviction of, or plea of guilty or nolo contendere to, any violation of Chapter 893 or of any controlled substance law of the United States or any state, for a violation occurring in the workplace, no later the an five (5) days after such conviction. (5) Impose a sanction on, or require the satisfactory participation in, a drug a buse assistance or rehabilitation program if such is available in the employee's community, by an employee who is s o convicted. (6) Make a good faith effort to continue to maintain a drug-free workplace through implementation of thi s section. Select Yes below from the drop down menu to certify that your firm complies with the above requirements.

Yes

5 Vendor Certification Regarding Scrutinized Companies Lists (Over \$1,000,000.00)

Section 287.135, Florida Statutes, prohibits agencies from contracting with companies, for goods or services over \$ 1,000,000, that are on either the Scrutinized Companies with Activities in Sudan List or the Scrutinized Companies w ith Activities in the Iran Petroleum Energy Sector List. Further, Section 215.4725, Florida Statutes, prohibits agencie s from contracting (at any dollar amount) with companies on the Scrutinized Companies that Boycott Israel List, or wi th companies that are engaged in a boycott of Israel. As the person authorized to electronically sign on behalf of Re spondent, I hereby certify by selecting the box below that the company responding to this solicitation is not listed on the Scrutinized Companies with Activities in Sudan List, the Scrutinized Companies with Activities in the Iran Petroleu m Energy Sector List, or the Scrutinized Companies that Boycott Israel List. I also certify that the company responding to this solicitation is not participating in a boycott of Israel, and is not engaged in business operations in Syria or Cuba. I understand that pursuant to sections 287.135 and 215.4725, Florida Statutes, the submission of a false cer tification may subject company to civil penalties, attorney's fees, and/or costs.

Certified

Acknowledgement of Addenda

Check this box to acknowledge that you have reviewed all addenda issued for this solicitation.

Yes

7 Local Business Participation Percentage

If you have indicated local business participation on the Local Business Participation Form Exhibit A enter the perce ntage of the contract that will be performed by local Pompano Beach businesses.

0%

8 Extension of prices, terms and conditions to other governmental entities

If awarded the contract resulting from this bid, will your company agree to extend the same prices, terms and conditions to other governmental entities? (Note -- Optional, agreement not required for contract award.) All Purchases m ade by other governmental entities shall be understood to be transactions between that entity and the awarded ven dor; the City of Pompano Beach shall not be a party to or be responsible for any such purchases. Indicate by selecting yes or no from the drop down menu.

Vac

9 Additional Items at Awarded Contract Price

If awarded the contract resulting from this bid, will your company agree to sell additional items at the awarded cont ract price? If so state the time period for additional items to be purchased at the awarded contract price in calendar days. If you will not agree to sell additional items at awarded contract price enter 0.

365

1 Terms & Conditions

Check the box indicating you agree to the terms and conditions of this solicitation.

Agree

Bid Lines

1	6.0 mm normal t	thickness (.236)			
	Quantity: <u>25000</u>	UOM: LF	Unit Price:	\$20.50 Total:	\$512,500.00
	Manufacturer:	Insituform			
	Manufacturer #:	No response			
	Item Notes:	8-inch diameter A-1			
2	7.5 mm normal t	thickness (.0295)			
	Quantity: 800	UOM: LF	Unit Price:	\$21.20 Total:	\$16,960.00
	Manufacturer:	No response			
	Manufacturer #:	No response			
	Item Notes:	8-inch diameter A-2			
3	9.0 mm normal t	thickness (.354)			
	Quantity: 800	UOM: LF	Unit Price:	\$22.00 Total:	\$17,600.00
	Manufacturer:	No response			
	Manufacturer #:	No response			
	Item Notes:	8-inch diameter A-3			
4	6.0 mm normal t	thickness (.236)			
	Quantity: 2250	UOM: LF	Unit Price:	\$23.20 Total:	\$52,200.00
	Manufacturer:	No response			
	Manufacturer #:	No response			
	Item Notes:	10-inch diameter B-1			

			·			
5	7.5 mm normal t	thickness (.0295)				
	Quantity: 125	UOM: LF	Unit Price:	\$24.00	Total:	\$3,000.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	10-inch diameter B-2				
6	9.0 mm normal t	thickness (.354)				
	Quantity: 125	UOM: LF	Unit Price:	\$25.00	Total:	\$3,125.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	10-inch diameter B-3				
7	6.0 mm normal t	thickness (.236)				
	Quantity: 50	UOM: LF	Unit Price:	\$25.50	Total:	\$1,275.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	12-inch diameter C-1				
8	7.5 mm normal t	thickness (.0295)				
	Quantity: 900	UOM: LF	Unit Price:	\$27.60	Total:	\$24,840.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	12-inch diameter C-2				
9	9.0 mm normal t	thickness (.354)				
	Quantity: 50	UOM: LF	Unit Price:	\$32.50	Total:	\$1,625.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	12-inch diameter C-3				
1	6.0 mm normal t	thickness (.236)				
U	Quantity: 20	UOM: LF	Unit Price:	\$28.90	Total:	\$578.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	15-inch diameter D-1				
1	7.5 mm normal t	thickness (.0295)				
1	Quantity: 360	UOM: LF	Unit Price:	\$34.70	Total:	\$12,492.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	15-inch diameter D-2				

1 2	9.0 mm normal t	thickness (.354)				
2	Quantity: 20	UOM: LF	Unit Price:	\$40.20	Total:	\$804.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	15-inch diameter D-3				
1	6.0 mm normal t	thickness (.236)				
3	Quantity: 20	UOM: LF	Unit Price:	\$35.30	Total:	\$706.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	18-inch diameter E-1				
1	7.5 mm normal t	thickness (.0295)				
4	Quantity: 20	UOM: LF	Unit Price:	\$42.60	Total:	\$852.00
	Manufacturer:	No response		<u> </u>		
	Manufacturer #:	No response				
	Item Notes:	18-inch diameter E-2				
1 5	9.0 mm normal t	thickness (.354)				
5	Quantity: 340	UOM: LF	Unit Price:	\$48.60	Total:	\$16,524.00
	Manufacturer:	No response		<u> </u>		
	Manufacturer #:	No response				
	Item Notes:	18-inch diameter E-3				
1	10.5 mm normal	l thickness (.413)				
6	Quantity: 20	UOM: LF	Unit Price:	\$51.60	Total:	\$1,032.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	18-inch diameter E-4				
1	6.0 mm normal t	thickness (.236)				
-	Quantity: 150	UOM: LF	Unit Price:	\$37.00	Total:	\$5,550.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	21-inch diameter F-1				
1	7.5 mm normal t	thickness (.0295)				
8	Quantity: 300	UOM: LF	Unit Price:	\$44.00	Total:	\$13,200.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	21-inch diameter F-2				

1	9.0 mm normal t	thickness (.354)				
9	Quantity: 300	UOM: LF	Unit Price:	\$66.50	Total:	\$19,950.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	21-inch diameter F-3				
2	10.5 mm norma	I thickness (.413)				
0	Quantity: 750	UOM: LF	Unit Price:	\$68.00	Total:	\$51,000.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	21-inch diameter F-4				
2	12.0 mm norma	I thickness (.472)				
1		UOM: LF	Unit Price:	\$72.00	Total:	\$21,600.00
	Manufacturer:	No response		Ť		¥ ,
	Manufacturer #:	No response				
	Item Notes:	21-inch diameter F-5				
2	Charge for each	1.5mm thickness increase	e per LF exceeding 12.0 m	nm		
2	Quantity: 1		Unit Price:	\$3.20	Total:	\$3.20
	Manufacturer:	No response		¥ 5 5	rotan	
	Manufacturer #:	No response				
	Item Notes:	21-inch diameter F-6				
2	9.0 mm normal t	thickness (.354)				
2		UOM: LF	Unit Price:	\$61.60	Total:	\$30,800.00
	Manufacturer:	No response	Office fice.	ψ01.00	Total.	φου,σου.σο
	Manufacturer #:	No response				
	Item Notes:	24-inch diameter G-1				
2	10.5 mm norma	I thickness (.413)				
2 4		UOM: LF	Unit Price:	\$73.70	Total:	\$36,850.00
	Manufacturer:	No response	Offit Frice.	Ψ13.10	TOlal.	ψ30,030.00
	Manufacturer #:	No response				
	Item Notes:	24-inch diameter G-2				
2						
2 5		I thickness (.472)		# 00.00	- [# 40.400.00
	, <u>—</u>	UOM: LF	Unit Price:	\$80.20	Total:	\$40,100.00
	Manufacturer:	No response				
	Manufacturer #:	No response 24-inch diameter G-3				

2	13.5 mm norma	thickness (.531)				
6	Quantity: 1000	UOM: LF	Unit Price:	\$84.60	Total:	\$84,600.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	24-inch diameter G-4				
2	15.0 mm norma	thickness (.591)				
7		UOM: LF	Unit Price:	\$89.20	Total:	\$44,600.00
	Manufacturer:	No response		· ·		. ,
	Manufacturer #:	1				
	Item Notes:	24-inch diameter G-5				
2	Charge for each	1.5mm thickness increase per L	F exceeding 15.0 mm			
2	Quantity: 1	•	Unit Price:	\$3.70	Total:	\$3.70
	Manufacturer:	No response	01111 111001	75115		V
	Manufacturer #:	No response				
	Item Notes:	24-inch diameter G-6				
2	9.0 mm normal t	thickness (.354)				
9		UOM: LF	Unit Price:	\$66.30	Total:	\$9,945.00
	Manufacturer:	No response	01110111001	ψσσ.σσ	i otali.	ψο,ο .ο.οο
	Manufacturer #:	No response				
	Item Notes:	27-inch diameter H-1				
3	10.5 mm normal	thickness (.413)				
Ö	Quantity: 150	, ,	Unit Price:	\$79.90	Total:	\$11,985.00
	Manufacturer:	No response	01110111001	ψ. σ.σσ	Total.	4.1,000.00
	Manufacturer #:	No response				
	Item Notes:	27-inch diameter H-2				_
3	12.0 mm norma	thickness (.472)				
1		UOM: LF	Unit Price:	\$87.20	Total:	\$13,080.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	27-inch diameter H-3				_
3 2	13.5 mm norma	thickness (.531)				
2		UOM: LF	Unit Price:	\$92.70	Total:	\$13,905.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	27-inch diameter H-4				

3	15.0 mm norma	I thickness (.591)				
3		UOM: LF	Unit Price:	\$98.10	Total:	\$14,715.00
	Manufacturer:	No response		Ψσσσ	i otai.	ψ· :,: : σ:σσ
	Manufacturer #:	No response				
	Item Notes:	27-inch diameter H-5				
2	0	A Form this longer in an area	L F 4 F O -			
3		1.5mm thickness increase p				
	· —	UOM: <u>LF</u>	Unit Price:	\$3.90	Total:	\$3.90
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	27-inch diameter H-6				
3 5	9.0 mm normal t	thickness (.354)				
5	Quantity: 100	UOM: LF	Unit Price:	\$74.40	Total:	\$7,440.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	30-inch diameter I-1				
3	10.5 mm norma	I thickness (.413)				
3		UOM: LF	Unit Price:	\$78.90	Total:	\$7,890.00
	Manufacturer:	No response	01111 1100.	ψ. σ.σσ	Total.	ψ.,σσσ.σσ
	Manufacturer #:	No response				
	Item Notes:	30-inch diameter I-2				
2	42.0	I thickness (470)				
3		I thickness (.472)		# 00.00		Φο οοο οο
	Quantity: 100		Unit Price:	\$96.90	Total:	\$9,690.00
	Manufacturer:	No response				
	Manufacturer #:	No response 30-inch diameter I-3				
	Item Notes:	30-inch diameter 1-3				
3	13.5 mm norma	I thickness (.531)			_	
U	Quantity: 100	UOM: LF	Unit Price:	\$102.50	Total:	\$10,250.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	30-inch diameter I-4				
3	15.0 mm norma	l thickness (.591)				
9	Quantity: 350	UOM: LF	Unit Price:	\$107.70	Total:	\$37,695.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	30-inch diameter I-5				

4	Charge for each	1.5mm thickness increas	se per LF exceeding 15.0 m	m		
0	Quantity: 1	UOM: LF	Unit Price:	\$4.70	Total:	\$4.70
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	30-inch diameter I-6				
4	10.5 mm norma	I thickness (.413)				
1	Quantity: 100	UOM: LF	Unit Price:	\$90.00	Total:	\$9,000.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	36-inch diameter J-1				
4 2	12.0 mm norma	I thickness (.472)				
2	Quantity: 100	UOM: LF	Unit Price:	\$119.10	Total:	\$11,910.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	36-inch diameter J-2				
4	13.5 mm norma	I thickness (.531)				
3	Quantity: 100	UOM: LF	Unit Price:	\$126.40	Total:	\$12,640.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	36-inch diameter J-3				
4	15.0 mm norma	I thickness (.591)				
4	Quantity: 100	UOM: LF	Unit Price:	\$133.30	Total:	\$13,330.00
	Manufacturer:	No response		<u> </u>		
	Manufacturer #:	No response				
	Item Notes:	36-inch diameter J-4				
4 5	16.5 mm norma	I thickness (.650)				
5	Quantity: 350	UOM: LF	Unit Price:	\$139.20	Total:	\$48,720.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	36-inch diameter J-5				
4	18.0 mm norma	I thickness (.709)				
6	Quantity: 350	UOM: LF	Unit Price:	\$146.80	Total:	\$51,380.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	36-inch diameter J-6				

47	Charge for each	1.5mm thickness increa	ase per LF exceeding 18.0 mm	1		
	Quantity: 1	JOM: <u>LF</u>	Unit Price:	\$4.80	Total:	\$4.80
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	36-inch diameter J-7				
4 8	8 - 12 inches dia	meter				
8	Quantity: 28150	UOM: LF	Unit Price:	\$1.70	Total:	\$47,855.00
	Manufacturer:	No response		* -	. • • • • •	¥ ,
	Manufacturer #:	No response				
	Item Notes:	Sanitary Sewer Mains L	ight Cleaning K-1			
4	44 40 5					
9	14 - 18 inches di			00.00		* 4 = 00 00
		UOM: LF	Unit Price:	\$2.20	Total:	\$1,760.00
	Manufacturer:	No response				
	Manufacturer #:	No response	0			
	Item Notes:	Sanitary Sewer Mains L	light Cleaning K-2			
5	20 - 24 inches di	ameter				
U	Quantity: <u>1750</u>	UOM: LF	Unit Price:	\$4.40	Total:	\$7,700.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Sanitary Sewer Mains L	ight Cleaning K-3			
5	27 - 42 inches di	ameter				
1	Quantity: 850	UOM: LF	Unit Price:	\$4.70	Total:	\$3,995.00
	· —	No response		* -	. • • • • •	¥ - /
	Manufacturer #:	No response				
	Item Notes:	Sanitary Sewer Mains L	ight Cleaning K-4			
5	48 - 72 inches di	ameter				
5 2			Heit Deises	CO FO	T-4-1	CO FO
		JOM: LF	Unit Price:	\$8.50	Total:	\$8.50
	Manufacturer:	No response				
	Manufacturer #: Item Notes:	No response Sanitary Sewer Mains L	ight Clooning K 5			
	item notes.	Sanitary Sewer Mains L	ight Cleaning K-5			
5	8 - 12 inches dia	meter				
3	Quantity: 1	JOM: LF	Unit Price:	\$1.60	Total:	\$1.60
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Sanitary Sewer Mains M	ledium Cleaning L-1			

5	14 - 18 inches di	ameter				
4	Quantity: 1 l	JOM: LF	Unit Price:	\$2.10	Total:	\$2.10
	Manufacturer:	No response		•		
	Manufacturer #:	No response				
	Item Notes:	Sanitary Sewer Mains M	edium Cleaning L-2			
5	20 - 24 inches di	ameter				
5			Unit Price:	\$2.90	Total:	\$2.90
	Quantity: 1 Umanufacturer:	No response	Office Price.	Ψ2.90	TOTAL.	Ψ2.90
	Manufacturer #:	No response				
	Item Notes:	Sanitary Sewer Mains M	edium Cleaning L-3			
_						
5	27 - 42 inches di					.
	Quantity: 1		Unit Price:	\$4.20	Total:	\$4.20
	Manufacturer:	No response				
	Manufacturer #:	No response	adiana Olambia a L. 4			
	Item Notes:	Sanitary Sewer Mains M	edium Cleaning L-4			
5 7	48 - 72 inches di	ameter				
'	Quantity: 1	JOM: <u>LF</u>	Unit Price:	\$6.90	Total:	\$6.90
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Sanitary Sewer Mains M	edium Cleaning L-5			
5 8	8 - 12 inches dia	meter				
ð	Quantity: 1	JOM: LF	Unit Price:	\$3.70	Total:	\$3.70
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Sanitary Sewer Mains H	eavy Cleaning M-1			
5 9	14 - 18 inches di	ameter				
9	Quantity: 1 (JOM: LF	Unit Price:	\$5.30	Total:	\$5.30
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Sanitary Sewer Mains H	eavy Cleaning M-2			
6	20 - 24 inches di	ameter				·
0	Quantity: 1 l	JOM: LF	Unit Price:	\$10.60	Total:	\$10.60
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Sanitary Sewer Mains H	eavy Cleaning M-3			

6	27 - 42 inches di	iameter				
1	Quantity: 1		Unit Price:	\$12.70	Total:	\$12.70
	Manufacturer:	No response	Office fide.	Ψ12.70	i otai.	Ψ12.70
	Manufacturer #:	No response				
	Item Notes:	Sanitary Sewer Mains Hea	vy Cleaning M-4			
			, ,			
6 2	48 - 72 inches di					
	Quantity: 1		Unit Price:	\$14.80	Total:	\$14.80
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Sanitary Sewer Mains Hea	vy Cleaning M-5			
6	8 - 12 inches dia	meter				
3	Quantity: 1	JOM: LF	Unit Price:	\$4.00	Total:	\$4.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Sanitary Sewer Mains Roo	t Removal N-1			
6	14 - 18 inches di	iameter				
4	Quantity: 1		Unit Price:	\$5.00	Total:	\$5.00
	Manufacturer:	No response	Office fide.	ψ0.00	Total.	ψο.σσ
	Manufacturer #:	No response				
	Item Notes:	Sanitary Sewer Mains Roo	t Removal N-2			
	00 04 5					
6 5	20 - 24 inches di			*	_	***
	Quantity: 1		Unit Price:	\$6.30	Total:	\$6.30
	Manufacturer:					
	Manufacturer #: Item Notes:	No response	t Domoval N 2			
	item notes.	Sanitary Sewer Mains Roo	t Removal N-3			
6	27 - 42 inches di	iameter				
J	Quantity: 1	JOM: <u>LF</u>	Unit Price:	\$8.50	Total:	\$8.50
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Sanitary Sewer Mains Roo	t Removal N-4			
6	48 - 72 inches di	iameter				
7	Quantity: 1 I	UOM: LF	Unit Price:	\$12.70	Total:	\$12.70
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Sanitary Sewer Mains Roo	t Removal N-5			

68	8 - 12 inches dia	meter				
8	Quantity: 1 (JOM: LF	Unit Price:	\$13.80	Total:	\$13.80
	Manufacturer:	No response			_	
	Manufacturer #:	No response				
	Item Notes:	Sanitary Sewer Mains Tu	uberculation Cleaning O-1			
6	14 - 18 inches di	iameter				
69	Quantity: 1		Unit Price:	\$15.90	Total:	\$15.90
	Manufacturer:	No response		Ŧ		*
	Manufacturer #:	No response				
	Item Notes:	•	uberculation Cleaning O-2			
7	20 - 24 inches di	iameter				
0	Quantity: 1		Unit Price:	\$19.00	Total:	\$19.00
	Manufacturer:	No response	Grift Friod.	ψισισσ	Total.	ψ.0.00
	Manufacturer #:	No response				
	Item Notes:	•	uberculation Cleaning O-3			
7	27 - 42 inches di	iameter				
1	Quantity: 1		Unit Price:	\$26.40	Total:	\$26.40
	Manufacturer:	No response	Office Frieds.	Ψ20.10	Total.	Ψ20.10
	Manufacturer #:	No response				
	Item Notes:		uberculation Cleaning O-4			
7	48 - 72 inches di	iameter				
2	Quantity: 1		Unit Price:	\$31.70	Total:	\$31.70
	Manufacturer:	No response	Office Tibes.	ψ01.70	Total.	φσι.τσ
	Manufacturer #:	No response				
	Item Notes:		uberculation Cleaning O-5			
7	6.0 mm normal t	hickness (.236)				
7		UOM: LF	Unit Price:	\$38.00	Total:	\$19,000.00
	Manufacturer:	No response		·		. ,
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 8 inch dia	meter Storm Sewer Main P-1			
7	7.5 mm normal t	hickness (.0295)				
4		UOM: LF	Unit Price:	\$40.00	Total:	\$10,000.00
	Manufacturer:	No response	Still 1 1100.	ψ.σ.σσ	i otal.	ψ.ο,σσσ.σσ
	Manufacturer #:	No response				
	Item Notes:		meter Storm Sewer Main P-2			

7 5	9.0 mm normal thickness (.354)							
5	Quantity: 250	UOM: LF	Unit Price:	\$51.30	Total:	\$12,825.00		
	Manufacturer:	No response						
	Manufacturer #:	No response						
	Item Notes:	CIPP Rehab - 8 inch dia	ameter Storm Sewer Main P-3					
7 6.0 mm normal thickness (.236)								
6	Quantity: 500	UOM: LF	Unit Price:	\$43.40	Total:	\$21,700.00		
	Manufacturer:	No response						
	Manufacturer #:	No response						
	Item Notes:	CIPP Rehab - 10 inch o	diameter Storm Sewer Main Q-1					
7	7.5 mm normal t	hickness (.0295)						
7		UOM: LF	Unit Price:	\$45.60	Total:	\$22,800.00		
	Manufacturer:	No response		•		, , , , , , , , , ,		
	Manufacturer #:	No response						
	Item Notes:	CIPP Rehab - 10 inch o	diameter Storm Sewer Main Q-2					
7	7 9.0 mm normal thickness (.354)							
8		UOM: LF	Unit Price:	\$57.30	Total:	\$20,055.00		
	Manufacturer:	No response		ψσσσ	Total.	V =0,000.00		
	Manufacturer #:	No response						
	Item Notes:	CIPP Rehab - 10 inch o	diameter Storm Sewer Main Q-3					
7	6.0 mm normal t	hickness (.236)						
9		UOM: LF	Unit Price:	\$46.40	Total:	\$11,600.00		
	Manufacturer:	No response	01111111001	¥ 13113	- Otan			
	Manufacturer #:	No response						
	Item Notes:	CIPP Rehab - 12 inch o	diameter Storm Sewer Main R-1					
8	7.5 mm normal t	hickness (.0295)						
0		UOM: LF	Unit Price:	\$48.80	Total:	\$34,160.00		
	Manufacturer:	No response		· ·		, ,		
	Manufacturer #:	No response						
	Item Notes:	CIPP Rehab - 12 inch o	diameter Storm Sewer Main R-2					
8	9.0 mm normal t	hickness (.354)						
1		UOM: LF	Unit Price:	\$60.80	Total:	\$15,200.00		
	Manufacturer:	No response			-			
	Manufacturer #:	No response						
	Item Notes:	·						

8 2	6.0 mm normal t	thickness (.236)				
2	Quantity: 250	UOM: LF	Unit Price:	\$51.70	Total:	\$12,925.00
	Manufacturer:	No response	_			
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 15 inch di	ameter Storm Sewer Main S-1			
8	7.5 mm normal t	thickness (.0295)				
83	Quantity: 1000	UOM: LF	Unit Price:	\$60.40	Total:	\$60,400.00
	Manufacturer:	No response				. ,
	Manufacturer #:	No response				
	Item Notes:	•	ameter Storm Sewer Main S-2			
2	9.0 mm normal t	thickness (354)				
8		UOM: LF	Unit Price:	\$73.00	Total:	\$18,250.00
	Manufacturer:	No response	OTHL FIICE. [ψ13.00	TOlal.	φ10,230.00
	Manufacturer #:	No response				
	Item Notes:	•	ameter Storm Sewer Main S-3			
0						
85			ase per LF exceeding 9.0 mm	A		.
	,	UOM: <u>LF</u>	Unit Price:	\$1.80	Total:	\$1.80
	Manufacturer:	No response				
	Manufacturer #: Item Notes:	No response	ameter Storm Sewer Main S-4			
	item notes:	CIPP Renab - 15 Inch di	ameter Storm Sewer Main 5-4			
86	6.0 mm normal t	thickness (.236)			_	
•	Quantity: 250	UOM: <u>LF</u>	Unit Price:	\$59.90	Total:	\$14,975.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 18 inch di	ameter Storm Sewer Main T-1			
87	7.5 mm normal t	thickness (.0295)				
-	Quantity: 250	UOM: LF	Unit Price:	\$70.40	Total:	\$17,600.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 18 inch di	ameter Storm Sewer Main T-2			
88	9.0 mm normal t	thickness (.354)				
8	Quantity: 1000	UOM: LF	Unit Price:	\$83.50	Total:	\$83,500.00
	Manufacturer:	No response			_	
	Manufacturer #:	No response				
	Item Notes:		ameter Storm Sewer Main T-3			

8 9	10.5 mm norma	I thickness (.413)					
9	Quantity: 250	UOM: LF	Unit Price:	\$86.70	Total:	\$21,675.00	
	Manufacturer:	No response					
	Manufacturer #:	No response					
	Item Notes:	CIPP Rehab - 18 inch	diameter Storm Sewer Main T-4				
9	Charge for each	1.5mm thickness incre	ease per LF exceeding 10.5 mm				
0	Quantity: 1	UOM: LF	Unit Price:	\$3.20	Total:	\$3.20	
	Manufacturer:	No response					
	Manufacturer #:	No response					
	Item Notes:	CIPP Rehab - 18 inch	diameter Storm Sewer Main T-5				
9	6.0 mm normal t	thickness (.236)					
1	Quantity: 100	UOM: LF	Unit Price:	\$67.00	Total:	\$6,700.00	
	Manufacturer:	No response					
	Manufacturer #:	No response					
	Item Notes:	CIPP Rehab - 21 inch	diameter Storm Sewer Main U-1				
9	7.5 mm normal t	ickness (.0295)					
2	Quantity: 100	UOM: LF	Unit Price:	\$71.20	Total:	\$7,120.00	
	Manufacturer:	No response					
	Manufacturer #:	No response					
	Item Notes:	CIPP Rehab - 21 inch	diameter Storm Sewer Main U-2				
9	9.0 mm normal t	thickness (.354)					
3	Quantity: 100	UOM: LF	Unit Price:	\$82.80	Total:	\$8,280.00	
	Manufacturer:	No response					
	Manufacturer #:	No response					
	Item Notes:	CIPP Rehab - 21 inch	diameter Storm Sewer Main U-3				
9	10.5 mm norma	I thickness (.413)					
4	Quantity: 100	UOM: LF	Unit Price:	\$88.20	Total:	\$8,820.00	
	Manufacturer:	No response					
	Manufacturer #:	No response					
	Item Notes:	CIPP Rehab - 21 inch	diameter Storm Sewer Main U-4				
9 5	12.0 mm norma	l thickness (.472)					
5	Quantity: 100	UOM: LF	Unit Price:	\$96.10	Total:	\$9,610.00	
	Manufacturer:	No response	· · · · · · · · · · · · · · · · · · ·				
	Manufacturer #:	No response					
	Item Notes	CIPP Rehab - 21 inch	diameter Storm Sewer Main LI-5				

9	Charge for each	1.5mm thickness incre	ase per LF exceeding 12.0 mm			
O	Quantity: 1	UOM: LF	Unit Price:	\$3.20	Total:	\$3.20
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 21 inch d	iameter Storm Sewer Main U-6			
9	9.0 mm normal t	thickness (.354)				
7	Quantity: 250	UOM: LF	Unit Price:	\$92.30	Total:	\$23,075.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 24 inch d	iameter Storm Sewer Main V-1			
9	10.5 mm norma	I thickness (.413)				
8	Quantity: 250	UOM: LF	Unit Price:	\$97.40	Total:	\$24,350.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 24 inch d	iameter Storm Sewer Main V-2			
9	12.0 mm norma	I thickness (.472)				
9	Quantity: 250	UOM: LF	Unit Price:	\$107.10	Total:	\$26,775.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 24 inch d	iameter Storm Sewer Main V-3			
1	13.5 mm norma	I thickness (.531)				
0	Quantity: 250	UOM: LF	Unit Price:	\$111.70	Total:	\$27,925.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 24 inch d	iameter Storm Sewer Main V-4			
1	15.0 mm norma	I thickness (.591)				
0	Quantity: 250	UOM: LF	Unit Price:	\$116.60	Total:	\$29,150.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 24 inch d	iameter Storm Sewer Main V-5			
1	Charge for each	1.5mm thickness incre	ase per LF exceeding 15.0 mm			
0	Quantity: 1	UOM: LF	Unit Price:	\$3.70	Total:	\$3.70
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 24 inch d	iameter Storm Sewer Main V-6			

1	9.0 mm normal t	thickness (.354)					
0	Quantity: 100	UOM: LF	Unit Price:	\$74.60	Total:	\$7,460.00	
	Manufacturer:	No response					
	Manufacturer #:	No response					
	Item Notes:	CIPP Rehab - 27 inch d	iameter Storm Sewer Main W-1				
1	10.5 mm norma	thickness (.413)					
0	Quantity: 100	UOM: LF	Unit Price:	\$89.10	Total:	\$8,910.00	
	Manufacturer:	No response					
	Manufacturer #:	No response					
	Item Notes:	CIPP Rehab - 27 inch d	iameter Storm Sewer Main W-2)			
1	12.0 mm norma	thickness (.472)					
05	Quantity: 100	UOM: LF	Unit Price:	\$97.40	Total:	\$9,740.00	
	Manufacturer:	No response					
	Manufacturer #:	No response					
	Item Notes:	CIPP Rehab - 27 inch d	iameter Storm Sewer Main W-3	}			
1	13.5 mm normal thickness (.531)						
0	Quantity: 100	UOM: LF	Unit Price:	\$103.00	Total:	\$10,300.00	
	Manufacturer:	No response					
	Manufacturer #:	No response					
	Item Notes:	CIPP Rehab - 27 inch d	iameter Storm Sewer Main W-4				
1	15.0 mm norma	thickness (.591)					
0 7	Quantity: 100	UOM: LF	Unit Price:	\$108.50	Total:	\$10,850.00	
	Manufacturer:	No response					
	Manufacturer #:	No response					
	Item Notes:	CIPP Rehab - 27 inch d	iameter Storm Sewer Main W-5	,			
1	Charge for each	1.5mm thickness increa	ase per LF exceeding 15.0 mr	n			
8	Quantity: 1	UOM: LF	Unit Price:	\$3.90	Total:	\$3.90	
	Manufacturer:	No response					
	Manufacturer #:	No response					
	Item Notes:	CIPP Rehab - 27 inch d	iameter Storm Sewer Main W-6)			
1	9.0 mm normal t	thickness (.354)					
9	Quantity: 100	UOM: LF	Unit Price:	\$83.90	Total:	\$8,390.00	
	Manufacturer:	No response					
	Manufacturer #:	No response					
	Item Notes:	CIPP Rehab - 30 inch d	iameter Storm Sewer Main X-1				

1	10.5 mm norma	I thickness (.413)			_	
0	Quantity: 100	UOM: <u>LF</u>	Unit Price:	\$99.40	Total:	\$9,940.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 30 inc	h diameter Storm Sewer Main X-2			
1	12.0 mm norma	I thickness (.472)				
1	Quantity: 100	UOM: LF	Unit Price:	\$107.70	Total:	\$10,770.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 30 inc	h diameter Storm Sewer Main X-3			
1	13.5 mm norma	I thickness (.531)				
1 2		UOM: LF	Unit Price:	\$113.50	Total:	\$11,350.00
_	Manufacturer:	No response	Office Fried.	ψ110.00	rotal.	ψ11,000.00
	Manufacturer #:	No response				
	Item Notes:	· ·	h diameter Storm Sewer Main X-4			
1	15.0 mm norma	I thickness (.591)				
3	Quantity: 100	UOM: LF	Unit Price:	\$118.70	Total:	\$11,870.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 30 inc	h diameter Storm Sewer Main X-5			
1	Charge for each	1.5mm thickness inc	crease per LF exceeding 15.0 mm			
4	Quantity: 1	UOM: LF	Unit Price:	\$4.70	Total:	\$4.70
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 30 inc	h diameter Storm Sewer Main X-6			
1	10.5 mm norma	I thickness (.413)				
1 5	Quantity: 350	UOM: LF	Unit Price:	\$109.60	Total:	\$38,360.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:		h diameter Storm Sewer Main Y-1			
4	12.0 mm norms	I thickness (472)				
1		I thickness (.472)			Г	.
6	l	UOM: LF	Unit Price:	\$132.60	Total:	\$46,410.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 36 inc	h diameter Storm Sewer Main Y-2			

1	13.5 mm normal	thickness (.531)						
7	Quantity: 350	UOM: LF	Unit Price:	\$140.10	Total:	\$49,035.00		
	Manufacturer:	No response						
	Manufacturer #:	No response						
	Item Notes:	CIPP Rehab - 36 inch dia	ameter Storm Sewer Main Y-3					
1	15.0 mm normal thickness (.591)							
1	Quantity: 350	UOM: LF	Unit Price:	\$147.10	Total:	\$51,485.00		
	Manufacturer:	No response						
	Manufacturer #:	No response						
	Item Notes:	CIPP Rehab - 36 inch dia	ameter Storm Sewer Main Y-4					
1	16.5 mm normal	thickness (.650)						
1	Quantity: 350	UOM: LF	Unit Price:	\$153.10	Total:	\$53,585.00		
	Manufacturer:	No response		<u> </u>				
	Manufacturer #:	No response						
	Item Notes:	CIPP Rehab - 36 inch dia	ameter Storm Sewer Main Y-5					
1	1 18.0 mm normal thickness (.709)							
2	Quantity: 350	UOM: LF	Unit Price:	\$160.90	Total:	\$56,315.00		
	Manufacturer:	No response						
	Manufacturer #:	No response						
	Item Notes:	CIPP Rehab - 36 inch dia	ameter Storm Sewer Main Y-6					
1	Charge for each	1.5mm thickness increa	se per LF exceeding 18.0 mr	n				
2	Quantity: 1	UOM: LF	Unit Price:	\$4.80	Total:	\$4.80		
	Manufacturer:	No response						
	Manufacturer #:	No response						
	Item Notes:	CIPP Rehab - 36 inch dia	ameter Storm Sewer Main Y-7					
1	10.5 mm normal	thickness (.413)						
2	Quantity: 350	UOM: LF	Unit Price:	\$128.20	Total:	\$44,870.00		
	Manufacturer:	No response						
	Manufacturer #:	No response						
	Item Notes:	CIPP Rehab - 42 inch dia	ameter Storm Sewer Main Z-1					
1	12.0 mm normal	thickness (.472)						
2	Quantity: 350	UOM: LF	Unit Price:	\$154.50	Total:	\$54,075.00		
	Manufacturer:	No response						
	Manufacturer #:	No response						
	Item Notes:	·						

1	13.5 mm norma	I thickness (.531)	<u></u>		_	
2 4	Quantity: 350	UOM: LF	Unit Price:	\$162.40	Total:	\$56,840.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 42 inch	diameter Storm Sewer Main Z-3			
1 15.0 mm normal thickness (.591)						
2 5	Quantity: 350	UOM: LF	Unit Price:	\$170.20	Total:	\$59,570.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 42 inch	diameter Storm Sewer Main Z-4			
1	16.5 mm norma	I thickness (.650)				
2	Quantity: 350	UOM: LF	Unit Price:	\$178.10	Total:	\$62,335.00
	Manufacturer:	No response				. ,
	Manufacturer #:	No response				
	Item Notes:	•	diameter Storm Sewer Main Z-5			
1 18.0 mm normal thickness (.709)						
2 7		UOM: LF	Unit Price:	\$184.90	Total:	\$64,715.00
1	Manufacturer:	No response	Offit Frice.	ψ104.90	TOtal.	ψ04,713.00
	Manufacturer #:	No response				
	Item Notes:	•	diameter Storm Sewer Main Z-6			
4	Character and	4 France thickness in an		_		
1 2 8			ease per LF exceeding 18.0 mm		[0.40
8		UOM: LF	Unit Price:	\$6.10	Total:	\$6.10
	Manufacturer:	No response				
	Manufacturer #: Item Notes:	No response	diameter Storm Sewer Main Z-7			
	item notes.	CIFF Reliab - 42 IIICII	ulameter Storm Sewer Main 2-7			
1 2	12.0 mm norma	I thickness (.472)			_	
9	Quantity: 350	UOM: LF	Unit Price:	\$160.30	Total:	\$56,105.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 48 inch	diameter Storm Sewer Main AA-1			
1	13.5 mm norma	I thickness (.531)				
3	Quantity: 350	UOM: LF	Unit Price:	\$168.30	Total:	\$58,905.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
Item Notes: CIPP Rehab - 48 inch diameter Storm Sewer Main AA-2						

1	15.0 mm norma	l thickness (.591)				
3	Quantity: 350	UOM: LF	Unit Price:	\$197.00	Total:	\$68,950.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 48 inch	diameter Storm Sewer Main AA-3			
1	16.5 mm norma	I thickness (.650)				
3	Quantity: 350	UOM: LF	Unit Price:	\$206.00	Total:	\$72,100.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 48 inch	diameter Storm Sewer Main AA-4			
1	18.0 mm norma	I thickness (.709)				
3	Quantity: 350	UOM: LF	Unit Price:	\$213.90	Total:	\$74,865.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 48 inch	diameter Storm Sewer Main AA-5			
1	1 19.5 mm normal thickness (.768)					
3	Quantity: 350	UOM: LF	Unit Price:	\$229.20	Total:	\$80,220.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 48 inch	diameter Storm Sewer Main AA-6			
1	21.0 mm norma	l thickness (.827)				
3 5	Quantity: 350	UOM: LF	Unit Price:	\$236.80	Total:	\$82,880.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 48 inch	diameter Storm Sewer Main AA-7			
1	Charge for each	1.5mm thickness inc	rease per LF exceeding 21.0 mm			
3	Quantity: 1	UOM: LF	Unit Price:	\$6.80	Total:	\$6.80
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 48 inch	diameter Storm Sewer Main AA-8			
1	10.5 mm norma	I thickness (.413)				
3	Quantity: 1	UOM: LF	Unit Price:	\$180.10	Total:	\$180.10
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes	CIPP Rehab - 54 inch	diameter Storm Sewer Main CC-1			

			- 1			
1	12.0 mm normal	thickness (.472)				
3	Quantity: 1	JOM: <u>LF</u>	Unit Price:	\$191.20	Total:	\$191.20
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 54 inch	diameter Storm Sewer Main CC-2			
1	13.5 mm normal	thickness (.531)				
1 3 9	Quantity: 1	JOM: LF	Unit Price:	\$200.20	Total:	\$200.20
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 54 inch	diameter Storm Sewer Main CC-3			
1	15.0 mm normal	thickness (.591)				
4 0	Quantity: 1	JOM: LF	Unit Price:	\$209.30	Total:	\$209.30
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 54 inch	diameter Storm Sewer Main CC-4			
1 16.5 mm normal thickness (.650)						
4	Quantity: 1	JOM: LF	Unit Price:	\$216.70	Total:	\$216.70
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 54 inch	diameter Storm Sewer Main CC-5			
1	18.0 mm normal	thickness (.709)				
4 2	Quantity: 1	JOM: LF	Unit Price:	\$252.90	Total:	\$252.90
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 54 inch	diameter Storm Sewer Main CC-6	<u> </u>		
1	19.5 mm normal	thickness (.768)				
4	Quantity: 1	JOM: LF	Unit Price:	\$267.40	Total:	\$267.40
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 54 inch	diameter Storm Sewer Main CC-7	,		
1	21.0 mm normal	thickness (.827)				
4	Quantity: 1	JOM: LF	Unit Price:	\$278.60	Total:	\$278.60
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 54 inch	diameter Storm Sewer Main CC-8			<u></u>

			•				
1	22.5 mm normal	thickness (.886)					
4 5	Quantity: 1	JOM: LF	Unit Price:	\$289.70	Total:	\$289.70	
	Manufacturer:	No response					
	Manufacturer #:	No response					
	Item Notes:	CIPP Rehab - 54 inch d	iameter Storm Sewer Main CC	-9			
1	Charge for each 1.5mm thickness increase per LF exceeding 22.5 mm						
4 6	Quantity: 1	JOM: LF	Unit Price:	\$7.60	Total:	\$7.60	
	Manufacturer:	No response					
	Manufacturer #:	No response					
	Item Notes:	CIPP Rehab - 54 inch d	liameter Storm Sewer Main CC	-10			
1	10.5 mm normal	thickness (.413)					
4 7	Quantity: 1	JOM: LF	Unit Price:	\$214.40	Total:	\$214.40	
	Manufacturer:	No response					
	Manufacturer #:	No response					
	Item Notes:	CIPP Rehab - 60 inch d	liameter Storm Sewer Main DD	-1			
1 12.0 mm normal thickness (.472)							
8	Quantity: 1	JOM: LF	Unit Price:	\$226.30	Total:	\$226.30	
	Manufacturer:	No response					
	Manufacturer #:	No response					
	Item Notes:	CIPP Rehab - 60 inch d	liameter Storm Sewer Main DD	-2			
1	13.5 mm normal	thickness (.531)					
4	Quantity: 1	JOM: LF	Unit Price:	\$236.40	Total:	\$236.40	
	Manufacturer:	No response					
	Manufacturer #:	No response					
	Item Notes:	CIPP Rehab - 60 inch d	liameter Storm Sewer Main DD	-3			
1	15.0 mm normal	thickness (.591)					
1 5 0	Quantity: 1	JOM: LF	Unit Price:	\$246.40	Total:	\$246.40	
	Manufacturer:	No response					
	Manufacturer #:	No response					
	Item Notes:	CIPP Rehab - 60 inch d	liameter Storm Sewer Main DD	-4			
1	16.5 mm normal	thickness (.650)					
5	Quantity: 1	JOM: LF	Unit Price:	\$254.90	Total:	\$254.90	
	Manufacturer:	No response					
	Manufacturer #:	No response					
	Item Notes:	CIPP Rehab - 60 inch d	liameter Storm Sewer Main DD	-5			

			-			
1 5	18.0 mm normal	thickness (.709)				
5 2	Quantity: 1	JOM: <u>LF</u>	Unit Price:	\$265.70	Total:	\$265.70
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 60 inch	diameter Storm Sewer Main DD-	6		
1	19.5 mm normal	thickness (.768)				
1 5 3	Quantity: 1	JOM: LF	Unit Price:	\$312.60	Total:	\$312.60
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 60 inch	diameter Storm Sewer Main DD-	7		
1	21.0 mm normal	thickness (.827)				
1 5 4	Quantity: 1	JOM: LF	Unit Price:	\$324.90	Total:	\$324.90
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 60 inch	diameter Storm Sewer Main DD-	8		_
1	22.5 mm normal	thickness (.886)				
5	Quantity: 1	JOM: LF	Unit Price:	\$337.40	Total:	\$337.40
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 60 inch	diameter Storm Sewer Main DD-	9		
1	Charge for each	1.5mm thickness incr	ease per LF exceeding 22.5 mn	n		
1 5 6	Quantity: 1	JOM: LF	Unit Price:	\$11.10	Total:	\$11.10
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 60 inch	diameter Storm Sewer Main DD-	10		
1	10.5 mm normal	thickness (.413)				
1 5 7	Quantity: 1	JOM: LF	Unit Price:	\$468.90	Total:	\$468.90
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 72 inch	diameter Storm Sewer Main EE-	1		
1	12.0 mm normal	thickness (.472)				
5	Quantity: 1	JOM: LF	Unit Price:	\$473.80	Total:	\$473.80
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 72 inch	diameter Storm Sewer Main EE-2	2		<u></u>

			•			
1 5	13.5 mm normal	thickness (.531)				
5	Quantity: 1	JOM: LF	Unit Price:	\$485.90	Total:	\$485.90
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 72 inch di	ameter Storm Sewer Main EE	-3		
1	15.0 mm normal	thickness (.591)				
6	Quantity: 1	JOM: LF	Unit Price:	\$497.90	Total:	\$497.90
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 72 inch di	ameter Storm Sewer Main EE	-4		
1	16.5 mm normal	thickness (.650)				
6	Quantity: 1 l	JOM: LF	Unit Price:	\$510.40	Total:	\$510.40
-	Manufacturer:	No response		,		
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 72 inch di	ameter Storm Sewer Main EE	-5		
1	18.0 mm normal	thickness (.709)				
6	Quantity: 1	, ,	Unit Price:	\$523.60	Total:	\$523.60
_	Manufacturer:	No response	Office field	Ψ020.00	Total.	ψ020.00
	Manufacturer #:	No response				
	Item Notes:		ameter Storm Sewer Main EE	-6		
4	10 E mm normal	thickness (700)				
163		thickness (.768)		Φοοσ οο		0005.00
3	Quantity: 1		Unit Price:	\$605.60	Total:	\$605.60
		No response				
	Manufacturer #: Item Notes:	No response	ameter Storm Sewer Main EE	7		
			ameter Storm Sewer Main LL	-1		
1	21.0 mm normal	thickness (.827)				
4	Quantity: 1	JOM: LF	Unit Price:	\$620.90	Total:	\$620.90
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 72 inch di	ameter Storm Sewer Main EE	-8		
1	22.5 mm normal	thickness (.886)				
6 5	Quantity: 1	JOM: LF	Unit Price:	\$633.00	Total:	\$633.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 72 inch di	ameter Storm Sewer Main EE	-9		

1	Charge for each	1.5mm thickness increa	ase per LF exceeding 22.5 m	m		
6	Quantity: 1	JOM: LF	Unit Price:	\$13.70	Total:	\$13.70
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 72 inch di	ameter Storm Sewer Main EE	-10		
1	10.5 mm normal	thickness (.413)				
6	Quantity: 1	UOM: LF	Unit Price:	\$574.60	Total:	\$574.60
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 84inch dia	meter Storm Sewer Main FF-	1		
1	12.0 mm normal	thickness (.472)				
6	Quantity: 1 l	, ,	Unit Price:	\$579.50	Total:	\$579.50
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 84inch dia	ameter Storm Sewer Main FF-	2		_
1	13.5 mm normal	thickness (.531)				
6	Quantity: 1 l	, ,	Unit Price:	\$591.70	Total:	\$591.70
3	Manufacturer:	No response			1 otal.	\$30.11.0
	Manufacturer #:	No response				
	Item Notes:		meter Storm Sewer Main FF-	3		
1	15.0 mm normal	thickness (.591)				
7 0	Quantity: 1	,	Unit Price:	\$605.60	Total:	\$605.60
U	, <u> </u>	No response	Office fide.	ψοσο.σο	Total.	φοσο.σσ
	Manufacturer #:	No response				
	Item Notes:	·	meter Storm Sewer Main FF-	4		
1	16.5 mm normal	thickness (.650)				
7		,	Unit Price	\$622.10	Total:	\$622.10
1	Quantity: 1 U	JOM: LF No response	Unit Price:	\$022.10	Total:	φ022.10
	Manufacturer #:	No response				
	Item Notes:		ameter Storm Sewer Main FF-	5		
1						
7		thickness (.709)		A 00==0		*
2	, <u>—</u>	JOM: LF	Unit Price:	\$637.70	Total:	\$637.70
	Manufacturer:	No response				
	Manufacturer #: Item Notes:	No response CIPP Rehab - 84inch dia	ameter Storm Sewer Main FF-	6		

			-			
17	19.5 mm normal	thickness (.768)				
3	Quantity: 1	JOM: <u>LF</u>	Unit Price:	\$735.90	Total:	\$735.90
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 84inch	diameter Storm Sewer Main FF-	7		
1	21.0 mm normal	thickness (.827)				
7 4	Quantity: 1	JOM: LF	Unit Price:	\$753.90	Total:	\$753.90
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 84inch	diameter Storm Sewer Main FF-	8		
1	22.5 mm normal	thickness (.886)				
7 5	Quantity: 1 l	UOM: LF	Unit Price:	\$765.70	Total:	\$765.70
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	CIPP Rehab - 84inch	diameter Storm Sewer Main FF-	9		
1	Charge for each	1.5mm thickness incr	ease per LF exceeding 22.5 m	m		
7	Quantity: 1 (Unit Price:	\$15.40	Total:	\$15.40
	Manufacturer:	No response		¥ 10110		
	Manufacturer #:	-				
	Item Notes:	•	diameter Storm Sewer Main FF-	10		
1	8 - 12 inches dia	ımeter				
77			Unit Price:	\$1.90	Total:	\$1.90
1	Quantity: 1 Umanufacturer:	No response	Unit Price.	φ1.90	Total.	φ1.90
	Manufacturer #:	No response				
	Item Notes:		ght Cleaning and Inspections GO	3-1		
7	14 - 18 inches di					
8	i —	JOM: <u>LF</u>	Unit Price:	\$2.40	Total:	\$2.40
	Manufacturer:	No response				
	Manufacturer #:	No response	1.01	2.0		
	Item Notes:	Storm Sewer Mains Li	ght Cleaning and Inspections GO	j-2		
17	20 - 24 inches di	iameter				
9	Quantity: 1	JOM: <u>LF</u>	Unit Price:	\$3.20	Total:	\$3.20
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Storm Sewer Mains Li	ght Cleaning and Inspections G(3-3		

			<u> </u>			
1	27 - 42 inches di	ameter			_	
8	Quantity: 1	JOM: LF	Unit Price:	\$4.50	Total:	\$4.50
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Storm Sewer Mains Lig	ht Cleaning and Inspections GG	-4		
1	48 - 72 inches di	ameter				
8	Quantity: 1	JOM: LF	Unit Price:	\$6.60	Total:	\$6.60
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Storm Sewer Mains Lig	ht Cleaning and Inspections GG	-5		
1	Up to 84 inches	diameter				
1 8 2	Quantity: 1 I	JOM: LF	Unit Price:	\$11.60	Total:	\$11.60
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Storm Sewer Mains Lig	ht Cleaning and Inspections GG	-6		
1	8 - 12 inches dia	meter				
8	Quantity: 1 l	JOM: LF	Unit Price:	\$2.40	Total:	\$2.40
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Storm Sewer Mains Me	dium Cleaning and Inspections I	HH-1		
1	14 - 18 inches di	ameter				
8	Quantity: 1	JOM: LF	Unit Price:	\$4.20	Total:	\$4.20
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Storm Sewer Mains Me	dium Cleaning and Inspections I	HH-2		
1	20 - 24 inches di	ameter				
8 5	Quantity: 1	JOM: LF	Unit Price:	\$8.50	Total:	\$8.50
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Storm Sewer Mains Me	dium Cleaning and Inspections I	HH-3		
1	27 - 42 inches di	ameter				
8	Quantity: 1	JOM: LF	Unit Price:	\$10.60	Total:	\$10.60
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes	Storm Sewer Mains Me	dium Cleaning and Inspections I			

			•			
10	48 - 72 inches di	ameter				
8 7	Quantity: 1	JOM: LF	Unit Price:	\$12.70	Total:	\$12.70
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Storm Sewer Mains Med	lium Cleaning and Inspections	HH-5		
1	Up to 84 inches	diameter				
1 8 8	Quantity: 1	JOM: LF	Unit Price:	\$19.00	Total:	\$19.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Storm Sewer Mains Med	lium Cleaning and Inspections	HH-6		
1	8 - 12 inches dia	meter				
8	Quantity: 1	JOM: LF	Unit Price:	\$4.20	Total:	\$4.20
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Storm Sewer Mains Hea	vy Cleaning and Inspections II-	-1		
1	14 - 18 inches di	ameter				
9	Quantity: 1	JOM: LF	Unit Price:	\$8.50	Total:	\$8.50
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Storm Sewer Mains Hea	vy Cleaning and Inspections II-	-2		
1	20 - 24 inches di	ameter				
9	Quantity: 1	JOM: LF	Unit Price:	\$12.70	Total:	\$12.70
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Storm Sewer Mains Hea	vy Cleaning and Inspections II-	-3		
1	27 - 42 inches di	ameter				
9	Quantity: 1	JOM: LF	Unit Price:	\$16.90	Total:	\$16.90
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Storm Sewer Mains Hea	vy Cleaning and Inspections II-	-4		
1	48 - 72 inches di	ameter				
9	Quantity: 1	JOM: LF	Unit Price:	\$19.00	Total:	\$19.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Storm Sewer Mains Hea	vy Cleaning and Inspections II-	-5		

			•			
1	Up to 84 inches	diameter				
9	Quantity: 1	UOM: LF	Unit Price:	\$31.70	Total:	\$31.70
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Storm Sewer Mains Hea	avy Cleaning and Inspections I	I-6		
1	8 - 12 inches dia	ımeter				
9	Quantity: 1	UOM: LF	Unit Price:	\$4.00	Total:	\$4.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Storm Sewer Mains Roo	ot Removal JJ-1			
1	14 - 18 inches d	iameter				
9	Quantity: 1	UOM: LF	Unit Price:	\$5.00	Total:	\$5.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Storm Sewer Mains Roo	ot Removal JJ-2			
1	20 - 24 inches d	iameter				
9	Quantity: 1	UOM: LF	Unit Price:	\$6.30	Total:	\$6.30
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Storm Sewer Mains Roo	ot Removal JJ-3			
1	27 - 42 inches d	iameter				
9	Quantity: 1	UOM: LF	Unit Price:	\$8.50	Total:	\$8.50
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Storm Sewer Mains Roo	ot Removal JJ-4			
1	48 - 72 inches d	iameter				
9	Quantity: 1	UOM: LF	Unit Price:	\$12.70	Total:	\$12.70
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Storm Sewer Mains Roo	ot Removal JJ-5			
2	Up to 84 inches	diameter				
0		UOM: LF	Unit Price:	\$42.30	Total:	\$42.30
	Manufacturer:	No response	011101 11001	ų .=.oo		Ţ .2.00
	Manufacturer #:	No response				
	Item Notes:	Storm Sewer Mains Roo	ot Removal JJ-6			

2	8 - 12 inches dia	meter				
0	Quantity: 1	JOM: LF	Unit Price:	\$13.80	Total:	\$13.80
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Storm Sewer Mains Tubercu	lation Cleaning and Insp	ections KK-1		
2	14 - 18 inches di	ameter				
0	Quantity: 1	JOM: LF	Unit Price:	\$15.90	Total:	\$15.90
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Storm Sewer Mains Tubercu	lation Cleaning and Insp	ections KK-2		
2	20 - 24 inches di	ameter				
0	Quantity: 1	JOM: LF	Unit Price:	\$19.00	Total:	\$19.00
	Manufacturer:	No response		<u> </u>		
	Manufacturer #:	No response				
	Item Notes:	Storm Sewer Mains Tubercu	lation Cleaning and Insp	ections KK-3		
2	27 - 42 inches di	ameter				
0	Quantity: 1	JOM: LF	Unit Price:	\$26.40	Total:	\$26.40
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Storm Sewer Mains Tubercu	lation Cleaning and Insp	ections KK-4		
2	48 - 72 inches di	ameter				
05	Quantity: 1 (JOM: LF	Unit Price:	\$31.70	Total:	\$31.70
	Manufacturer:	No response		<u> </u>		
	Manufacturer #:	No response				
	Item Notes:	Storm Sewer Mains Tubercu	lation Cleaning and Insp	ections KK-5		
2	Up to 84 inches	diameter				
0	Quantity: 1	JOM: LF	Unit Price:	\$68.80	Total:	\$68.80
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Storm Sewer Mains Tubercu	lation Cleaning and Insp	ections KK-6		
2	8 inches diamete	er				
0 7	Quantity: 1500	UOM: LF	Unit Price:	\$0.10	Total:	\$150.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes: Ancillary Services By-Pass Pumping LL-1					

			•			
2	10 inches diame	ter				
8	Quantity: 750	UOM: LF	Unit Price:	\$0.10	Total:	\$75.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Ancillary Services By-F	Pass Pumping LL-2			
2	12 inches diame	ter				
9	Quantity: 900	UOM: LF	Unit Price:	\$2.10	Total:	\$1,890.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Ancillary Services By-F	Pass Pumping LL-3			
2	15 inches diame	ter				
1 0	Quantity: 380	UOM: LF	Unit Price:	\$5.30	Total:	\$2,014.00
	Manufacturer:	No response	<u> </u>			
	Manufacturer #:	No response				
	Item Notes:	Ancillary Services By-F	Pass Pumping LL-4			
2	18 inches diame	ter				
1	Quantity: 340	UOM: LF	Unit Price:	\$10.60	Total:	\$3,604.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Ancillary Services By-F	Pass Pumping LL-5			
2	21 inches diame	ter				
1 2	Quantity: 750	UOM: LF	Unit Price:	\$12.70	Total:	\$9,525.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Ancillary Services By-F	Pass Pumping LL-6			
2	24 inches diame	ter				
1 3	Quantity: 1000	UOM: LF	Unit Price:	\$15.90	Total:	\$15,900.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Ancillary Services By-F	Pass Pumping LL-7			
2	27 inches diame	ter				
1 4		JOM: LF	Unit Price:	\$37.00	Total:	\$37.00
4	Manufacturer:	No response	OTHER FIGE	ψ01.00	ı olal.	ψ57.00
	Manufacturer #:	No response				
Item Notes: Ancillary Services By-Pass Pumping LL-8						

			- '				
2	30 inches diame	ter					
5	Quantity: 1	JOM: <u>LF</u>	Unit Price:	\$52.90	Total:	\$52.90	
	Manufacturer:	No response					
	Manufacturer #:	No response					
	Item Notes:	Ancillary Services By-P	ass Pumping LL-9				
2	36 inches diame	ter					
1	Quantity: 1	UOM: LF	Unit Price:	\$68.80	Total:	\$68.80	
	Manufacturer:	No response			·		
	Manufacturer #:	No response					
	Item Notes:	Ancillary Services By-P	ass Pumping LL-10				
2	Standard Service	e Reconnection					
1 7	Quantity: 1		Unit Price:	\$500.00	Total:	\$500.00	
•	Manufacturer:	No response	Office files.	φοσο.σσ	Total.	φοσσ.σσ	
	Manufacturer #:	No response					
	Item Notes:	Ancillary Service MM					
2							
2	Service Connect			*		***	
8	Quantity: 1		Unit Price:	\$300.00	Total:	\$300.00	
	Manufacturer:	No response					
	Manufacturer #: Item Notes:	No response Ancillary Service NN					
	item notes.	Anchiary Service NN					
2	Flagman						
9	Quantity: 1		Unit Price:	\$338.50	Total:	\$338.50	
	Manufacturer:	No response					
	Manufacturer #:	No response					
	Item Notes:	Traffic Control - FDOT	Right of Way OO-1				
2	Arrow Board						
2 2 0	Quantity: 1	JOM: Setup	Unit Price:	\$185.10	Total:	\$185.10	
	Manufacturer:	No response					
	Manufacturer #:	No response					
	Item Notes:	Traffic Control - FDOT	Right of Way OO-2				
2	Barricades						
2 2 1	Quantity: 1 l	JOM: Setup	Unit Price:	\$1,586.80	Total:	\$1,586.80	
	Manufacturer:	No response				·	
	Manufacturer #:	No response					
	Item Notes: Traffic Control - FDOT Righ of Way OO-3						

	Г					
2 2 2	Lane Dividers		_		Г	
2	Quantity: 1	UOM: Setup	Unit Price:	\$528.90	Total:	\$528.90
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Traffic Control - FD	OT Right of Way OO-4			
2	Flagman					
2 2 3		UOM: Setup	Unit Price:	\$338.50	Total:	\$338.50
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Traffic Control - Cit	y Right of Way PP-1			
2	Arrow Board					
2 2 4		UOM: Setup	Unit Price:	\$185.10	Total:	\$185.10
4	l	No response	OTIIL FIICE. [_	ψ103.10	TOlal.	ψ103.10
	Manufacturer:					
	Manufacturer #: Item Notes:	No response	y Right of Way PP-2			
	item notes.	Trainic Control - Cit	y Mgm of Way 11-2			
2 2	Barricades		_		F	
5	Quantity: 1	UOM: Setup	Unit Price:	\$1,057.80	Total:	\$1,057.80
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Traffic Control - Cit	y Right of Way PP-3			
2 2	Lane Dividers					
6	Quantity: 1	UOM: Setup	Unit Price:	\$528.90	Total:	\$528.90
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Traffic Control - Cit	y Right of Way PP-4			
2	Flagman					
2 2 7		UOM: Setup	Unit Price:	\$338.50	Total:	\$338.50
•	Manufacturer:	No response		\$000.00	Total.	φοσοισσ
	Manufacturer #:	No response				
	Item Notes:		unty Right of Way QQ-1			
			, rugin or may aa i			
2 2	Arrow Board		_		Г	
8	Quantity: 1	UOM: Setup	Unit Price:	\$185.10	Total:	\$185.10
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes	Traffic Control - Co	unty Right of Way 00-2			

2 2 9	Barricades		<u></u>			
9	Quantity: 1	UOM: Setup	Unit Price:	\$1,057.80	Total:	\$1,057.80
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Traffic Control - County Right	of Way QQ-3			
2	Lane Dividers					
2 3 0	Quantity: 1	UOM: Setup	Unit Price:	\$528.90	Total:	\$528.90
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Traffic Control - County Right	of Way QQ-4			
2	6 - 12 inches dia	ameter				
2 3 1	Quantity: 1		Unit Price:	\$2.60	Total:	\$2.60
Ċ	Manufacturer:	No response		ΨΞ.00	rotal.	Ψ=.00
	Manufacturer #:	No response				
	Item Notes:	Easement Access RR-1				
2	11 10 inches d	iomotor				
2 3 2	14 - 18 inches d			Ф0.70	Г	Φ0.70
2	Quantity: 1		Unit Price:	\$3.70	Total:	\$3.70
	Manufacturer:	No response				
	Manufacturer #: Item Notes:	No response Easement Access RR-2				
	item notes.	Edsement Access KK-2				
2 3 3	20 - 24 inches d	iameter			_	
3	Quantity: 1	UOM: LF	Unit Price:	\$5.00	Total:	\$5.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Easement Access RR-3				
2	27 - 30 inches d	iameter				
2 3 4	Quantity: 1	UOM: LF	Unit Price:	\$9.30	Total:	\$9.30
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Easement Access RR-4				
2	Inspection from	main up to 30 ft 4 & 6 inches	_			
2 3 5	•	UOM: EA	Unit Price:	\$290.90	Total:	\$4,945.30
	Manufacturer:	No response		,	<u>-</u>	. ,
	Manufacturer #:	No response				
	Item Notes:	Service Lateral Lining SS-1				

			on B - Contractor 3 (Caponac			
2 3 6	Inspection from I	main beyond 30 ft				
6	Quantity: 4	UOM: EA	Unit Price:	\$15.90	Total:	\$63.60
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Service Lateral Lining SS-2				
2	Inspection from	clean out up to 30 ft				
2 3 7		UOM: EA	Unit Price:	\$105.80	Total:	\$1,798.60
	Manufacturer:	No response		*	. • • • • • • • • • • • • • • • • • • •	+ , ====
	Manufacturer #:	No response				
	Item Notes:	Service Lateral Lining SS-3				
2	Inspection from	clean out beyond 30 ft				
3 8		•	Ulait Dalass	\$5.20	Tatal	¢24.20
8	Quantity: 4		Unit Price:	\$5.30	Total:	\$21.20
	Manufacturer:	No response				
	Manufacturer #: Item Notes:	No response Service Lateral Lining SS-4				
	item notes.	Service Lateral Lilling 55-4				
2 3 9	CIPP Lateral Lin	er 4-6 inches up to 30 ft with E	Brim Type Main/Later	al Connection		
9	Quantity: 34	UOM: EA	Unit Price:	\$2,500.00	Total:	\$85,000.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Service Lateral Lining SS-5				
2 4	CIPP Lateral Lin	er 4-6 inches up to 30 ft with F	Full Circle Type Main/	Lateral Connection	on System	
0	Quantity: 34	UOM: EA	Unit Price:	\$3,358.60	Total:	\$114,192.40
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Service Lateral Lining SS-6				
2	CIPP Lateral Lin	er 4-6 inches Diameter beyon	d 30 ft			
2 4 1	Quantity: 7	UOM: EA	Unit Price:	\$52.90	Total:	\$370.30
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Service Lateral Lining SS-7				
2	Mobilization					
2 4		LIOM 1.C	11. % D :	¢0.044.00	T	PO 044 00
2	,	UOM: LS	Unit Price:	\$2,644.60	Total:	\$2,644.60
	Manufacturer:	No response				
	Manufacturer #:	No response				

Exhibit D - Contractor's Response

2 4	Cured-in-place 8	3 - inch sectional pipe lining 8 lir	near feet in length			
3	Quantity: 10	UOM: EA	Unit Price:	\$2,115.70	Total:	\$21,157.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Sectional Lining UU-1				
2 4	Additional length	of cured-in-place sectional pipe	e lining beyond 8 line	ear feet in length		
4	Quantity: 10	UOM: EA	Unit Price:	\$317.40	Total:	\$3,174.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Sectional Lining UU-2				
2 4	Cured-in-place 1	0- inch sectional pipe lining 8 li	near feet in length			
4 5	Quantity: 10	UOM: EA	Unit Price:	\$2,644.60	Total:	\$26,446.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Sectional Lining UU-3				
2 4	Additional length	of cured-in-place 10 inch section	onal pipe lining beyo	ond 8 linear feet in	n length	
6	Quantity: 10	UOM: EA	Unit Price:	\$423.10	Total:	\$4,231.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Sectional Lining UU-4				
2	Reinstatement o	of service laterals				
4 7	Quantity: 10	UOM: EA	Unit Price:	\$500.00	Total:	\$5,000.00
	Manufacturer:	No response				
	Manufacturer #:	No response				
	Item Notes:	Sectional Lining UU-5				
2	Indemnification					
2 4 8	Quantity: 1	UOM: LS	Unit Price:	\$10.00	Total:	\$10.00
	Manufacturer:	No response				
		No reanance				
	Manufacturer #:	No response				

Response Total: \$3,484,918.90

City of Pompano Beach, FL Individual Award

Bid Information

Contact Information

Ship to Information

Bid Creator

Tammy Thompkins

Purchasing Agent

Email

tammy.thompkins@copbfl.com

Phone

(954) 786-4098

Fax

(954) 786-4168

Bid Number Title

T-01-20 Addendum 6 Cured In Place Pipe Rehabilitation, Annual

Contract ITB

Bid Type

Issue Date Close Date 10/10/2019 08:37 PM (ET) 11/19/2019 02:00:00 PM (ET)

Alternates

Contact

Address

Building C

Pompano Beach, FL

purchasing@copbfl.com

Tammy Thompkins

1190 NE 3rd Avenue

33060

Telephone (954) 786-4098 (954) 786-4168

Fax **Email**

Contact

Address

Fax

Email

Telephone

Supplier Information

Company Insituform

Technologies, LLC

Contact

Address

MSC # 116, PO Box

(636) 530-8000

2244

Birmingham, AL 35201

Telephone

Fax Email

Submitted

11/19/2019 11:21:22

Manufacturer #:

AM (ET)

Supplier Notes

Bid	Lines				
#	UOM	Description	Qty	Response	Extended
1	LF	6.0 mm normal thickness (.236)	25,000	\$20.50	\$512,500.00
	Manufactui	rer: Insituform Manufacturer #:			
	Supplier No	otes:			
2	LF	7.5 mm normal thickness (.0295)	800	\$21.20	\$16,960.00

Supplier Notes:

Manufacturer:

3	LF 9.0 mm normal thickness (.354) Manufacturer: Manufacturer #: Supplier Notes:	800	\$22.00	\$17,600.00
4	LF 6.0 mm normal thickness (.236) Manufacturer: Manufacturer #: Supplier Notes:	2,250	\$23.20	\$52,200.00
5	LF 7.5 mm normal thickness (.0295) Manufacturer: Manufacturer #: Supplier Notes:	125	\$24.00	\$3,000.00
6	LF 9.0 mm normal thickness (.354) Manufacturer: Manufacturer #: Supplier Notes:	125	\$25.00	\$3,125.00
7	LF 6.0 mm normal thickness (.236) Manufacturer: Manufacturer #: Supplier Notes:	50	\$25.50	\$1,275.00
8	LF 7.5 mm normal thickness (.0295) Manufacturer: Manufacturer #: Supplier Notes:	900	\$27.60	\$24,840.00
9	LF 9.0 mm normal thickness (.354) Manufacturer: Manufacturer #: Supplier Notes:	50	\$32.50	\$1,625.00
10	LF 6.0 mm normal thickness (.236) Manufacturer: Manufacturer #: Supplier Notes:	20	\$28.90	\$578.00
11	LF 7.5 mm normal thickness (.0295) Manufacturer: Manufacturer #: Supplier Notes:	360	\$34.70	\$12,492.00

12	LF 9.0 mm normal thickness (.354) Manufacturer: Manufacturer #:	20	\$40.20	\$804.00
	Supplier Notes:			
13	LF 6.0 mm normal thickness (.236)	20	\$35.30	\$706.00
	Manufacturer: Manufacturer #: Supplier Notes:			
14	LF 7.5 mm normal thickness (.0295)	20	\$42.60	\$852.00
	Manufacturer: Manufacturer #: Supplier Notes:			
15	LF 9.0 mm normal thickness (.354)	340	\$48.60	\$16,524.00
	Manufacturer: Manufacturer #: Supplier Notes:			
16	LF 10.5 mm normal thickness (.413)	20	\$51.60	\$1,032.00
	Manufacturer: Manufacturer #: Supplier Notes:			
17	LF 6.0 mm normal thickness (.236)	150	\$37.00	\$5,550.00
	Manufacturer: Manufacturer #: Supplier Notes:			
18	LF 7.5 mm normal thickness (.0295)	300	\$44.00	\$13,200.00
	Manufacturer: Manufacturer #: Supplier Notes:			
19	LF 9.0 mm normal thickness (.354)	300	\$66.50	\$19,950.00
	Manufacturer: Manufacturer #: Supplier Notes:			
20	LF 10.5 mm normal thickness (.413)	750	\$68.00	\$51,000.00
	Manufacturer: Manufacturer #: Supplier Notes:			

21	LF 12.0 mm normal thickness (.472) Manufacturer: Manufacturer #:	300	\$72.00	\$21,600.00
	Supplier Notes:			
22	LF Charge for each 1.5mm thickness increase per LF exceeding 12.0 mm	1	\$3.20	\$3.20
	Manufacturer: Manufacturer #: Supplier Notes:			
23	LF 9.0 mm normal thickness (.354)	500	\$61.60	\$30,800.00
	Manufacturer: Manufacturer #: Supplier Notes:			
24	LF 10.5 mm normal thickness (.413)	500	\$73.70	\$36,850.00
	Manufacturer: Manufacturer #: Supplier Notes:			
25	LF 12.0 mm normal thickness (.472)	500	\$80.20	\$40,100.00
	Manufacturer: Manufacturer #: Supplier Notes:			
26	LF 13.5 mm normal thickness (.531)	1,000	\$84.60	\$84,600.00
	Manufacturer: Manufacturer #: Supplier Notes:			
27	LF 15.0 mm normal thickness (.591)	500	\$89.20	\$44,600.00
	Manufacturer: Manufacturer #: 1 Supplier Notes:			
28	LF Charge for each 1.5mm thickness increase per LF exceeding 15.0 mm	1	\$3.70	\$3.70
	Manufacturer: Manufacturer #: Supplier Notes:			
29	LF 9.0 mm normal thickness (.354)	150	\$66.30	\$9,945.00
	Manufacturer: Manufacturer #: Supplier Notes:			

30 LF	10.5 mm normal thickness (.413)	150	\$79.90	\$11,985.00
Man	ufacturer: Manufacturer #:			
Supp	olier Notes:			
31 LF	12.0 mm normal thickness (.472)	150	\$87.20	\$13,080.00
Man	ufacturer: Manufacturer #:			
Supp	olier Notes:			
32 LF	13.5 mm normal thickness (.531)	150	\$92.70	\$13,905.00
Man	ufacturer: Manufacturer #:			
Supp	olier Notes:			
33 LF	15.0 mm normal thickness (.591)	150	\$98.10	\$14,715.00
Man	ufacturer: Manufacturer #:			
Supp	olier Notes:			
34 LF	Charge for each 1.5mm thickness increase per LF exceeding 15.0 mm	1	\$3.90	\$3.90
Man	ufacturer: Manufacturer #:			
Supp	olier Notes:			
35 LF	9.0 mm normal thickness (.354)	100	\$74.40	\$7,440.00
Man	ufacturer: Manufacturer #:			
Supp	olier Notes:			
36 LF	10.5 mm normal thickness (.413)	100	\$78.90	\$7,890.00
Man	ufacturer: Manufacturer #:			
Supp	olier Notes:			
37 LF	12.0 mm normal thickness (.472)	100	\$96.90	\$9,690.00
Man	ufacturer: Manufacturer #:			
Supp	olier Notes:			
38 LF	13.5 mm normal thickness (.531)	100	\$102.50	\$10,250.00
Man	ufacturer: Manufacturer #:			
Supp	olier Notes:			

39	LF 15.0 mm normal thickness (.591)	350	\$107.70	\$37,695.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
40	LF Charge for each 1.5mm thickness increase per LF exceeding 15.0 mm	1	\$4.70	\$4.70
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
41	LF 10.5 mm normal thickness (.413)	100	\$90.00	\$9,000.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
42	LF 12.0 mm normal thickness (.472)	100	\$119.10	\$11,910.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
43	LF 13.5 mm normal thickness (.531)	100	\$126.40	\$12,640.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
44	LF 15.0 mm normal thickness (.591)	100	\$133.30	\$13,330.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
45	LF 16.5 mm normal thickness (.650)	350	\$139.20	\$48,720.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
46	LF 18.0 mm normal thickness (.709)	350	\$146.80	\$51,380.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
47	LF Charge for each 1.5mm thickness increase per LF exceeding 18.0 mm	1	\$4.80	\$4.80
	Manufacturer: Manufacturer #:			
	Supplier Notes:			

48	LF 8 - 12 inches diameter	28,150	\$1.70	\$47,855.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
49	LF 14 - 18 inches diameter	800	\$2.20	\$1,760.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
50	LF 20 - 24 inches diameter	1,750	\$4.40	\$7,700.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
51	LF 27 - 42 inches diameter	850	\$4.70	\$3,995.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
52	LF 48 - 72 inches diameter	1	\$8.50	\$8.50
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
53	LF 8 - 12 inches diameter	1	\$1.60	\$1.60
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
54	LF 14 - 18 inches diameter	1	\$2.10	\$2.10
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
55	LF 20 - 24 inches diameter	1	\$2.90	\$2.90
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
56	LF 27 - 42 inches diameter	1	\$4.20	\$4.20
	Manufacturer: Manufacturer #:			
	Supplier Notes:			

57	LF 48 - 72 inches diameter Manufacturer: Manufacturer #: Supplier Notes:	1	\$6.90	\$6.90
58	LF 8 - 12 inches diameter Manufacturer: Manufacturer #: Supplier Notes:	1	\$3.70	\$3.70
59	LF 14 - 18 inches diameter Manufacturer: Manufacturer #: Supplier Notes:	1	\$5.30	\$5.30
60	LF 20 - 24 inches diameter Manufacturer: Manufacturer #: Supplier Notes:	1	\$10.60	\$10.60
61	LF 27 - 42 inches diameter Manufacturer: Manufacturer #: Supplier Notes:	1	\$12.70	\$12.70
62	LF 48 - 72 inches diameter Manufacturer: Manufacturer #: Supplier Notes:	1	\$14.80	\$14.80
63	LF 8 - 12 inches diameter Manufacturer: Manufacturer #: Supplier Notes:	1	\$4.00	\$4.00
64	LF 14 - 18 inches diameter Manufacturer: Manufacturer #: Supplier Notes:	1	\$5.00	\$5.00
65	LF 20 - 24 inches diameter Manufacturer: Manufacturer #: Supplier Notes:	1	\$6.30	\$6.30

	LF 27 - 42 inches diameter Manufacturer: Manufacturer #:	1	\$8.50	\$8.50
;	Supplier Notes:			
67	LF 48 - 72 inches diameter	1	\$12.70	\$12.70
I	Manufacturer: Manufacturer #:			
;	Supplier Notes:			
68	LF 8 - 12 inches diameter	1	\$13.80	\$13.80
ļ	Manufacturer: Manufacturer #:			
;	Supplier Notes:			
69	LF 14 - 18 inches diameter	1	\$15.90	\$15.90
ļ	Manufacturer: Manufacturer #:			
;	Supplier Notes:			
70	LF 20 - 24 inches diameter	1	\$19.00	\$19.00
I	Manufacturer: Manufacturer #:			
;	Supplier Notes:			
71	LF 27 - 42 inches diameter	1	\$26.40	\$26.40
ļ	Manufacturer: Manufacturer #:			
;	Supplier Notes:			
72	LF 48 - 72 inches diameter	1	\$31.70	\$31.70
I	Manufacturer: Manufacturer #:			
;	Supplier Notes:			
73	LF 6.0 mm normal thickness (.236)	500	\$38.00	\$19,000.00
ı	Manufacturer: Manufacturer #:			
;	Supplier Notes:			
74	LF 7.5 mm normal thickness (.0295)	250	\$40.00	\$10,000.00
ı	Manufacturer: Manufacturer #:			
;	Supplier Notes:			

75	LF 9.0 mm normal thickness (.354) Manufacturer: Manufacturer #:	250	\$51.30	\$12,825.00
	Supplier Notes:			
76	LF 6.0 mm normal thickness (.236) Manufacturer: Manufacturer #:	500	\$43.40	\$21,700.00
	Supplier Notes:			
	LF 7.5 mm normal thickness (.0295)	500	\$45.60	\$22,800.00
	Manufacturer: Manufacturer #:	000	ψ10.00	Ψ22,000.00
	Supplier Notes:			
	LF 9.0 mm normal thickness (.354)	350	\$57.30	\$20,055.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
79	LF 6.0 mm normal thickness (.236)	250	\$46.40	\$11,600.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
80	LF 7.5 mm normal thickness (.0295)	700	\$48.80	\$34,160.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
81	LF 9.0 mm normal thickness (.354)	250	\$60.80	\$15,200.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
82	LF 6.0 mm normal thickness (.236)	250	\$51.70	\$12,925.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
83	LF 7.5 mm normal thickness (.0295)	1,000	\$60.40	\$60,400.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			

84	LF 9.0 mm normal thickness (.354)	250	\$73.00	\$18,250.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
85	LF Charge for each 1.5mm thickness increase per LF exceeding 9.0 mm	1	\$1.80	\$1.80
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
86	LF 6.0 mm normal thickness (.236)	250	\$59.90	\$14,975.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
87	LF 7.5 mm normal thickness (.0295)	250	\$70.40	\$17,600.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
88	LF 9.0 mm normal thickness (.354)	1,000	\$83.50	\$83,500.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
89	LF 10.5 mm normal thickness (.413)	250	\$86.70	\$21,675.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
90	LF Charge for each 1.5mm thickness increase per LF exceeding 10.5 mm	1	\$3.20	\$3.20
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
91	LF 6.0 mm normal thickness (.236)	100	\$67.00	\$6,700.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
92	LF 7.5 mm normal thickness (.0295)	100	\$71.20	\$7,120.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			

00	1.5 0.0 mm named this linear (254)	400	#00.00	¢0,000,00
93	LF 9.0 mm normal thickness (.354) Manufacturer: Manufacturer #:	100	\$82.80	\$8,280.00
	Supplier Notes:			
	Supplier Notes.			
94	LF 10.5 mm normal thickness (.413)	100	\$88.20	\$8,820.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
95	LF 12.0 mm normal thickness (.472)	100	\$96.10	\$9,610.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
96	LF Charge for each 1.5mm thickness increase per LF exceeding 12.0 mm	1	\$3.20	\$3.20
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
97	LF 9.0 mm normal thickness (.354)	250	\$92.30	\$23,075.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
98	LF 10.5 mm normal thickness (.413)	250	\$97.40	\$24,350.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
99	LF 12.0 mm normal thickness (.472)	250	\$107.10	\$26,775.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
100	LF 13.5 mm normal thickness (.531)	250	\$111.70	\$27,925.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
101	LF 15.0 mm normal thickness (.591)	250	\$116.60	\$29,150.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			

102	LF Charge for each 1.5mm thickness increase per LF exceeding 15.0 mm Supplier Notes:	1	\$3.70	\$3.70
103	LF 9.0 mm normal thickness (.354)	100	\$74.60	\$7,460.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
104	LF 10.5 mm normal thickness (.413)	100	\$89.10	\$8,910.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
105	LF 12.0 mm normal thickness (.472)	100	\$97.40	\$9,740.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
106	LF 13.5 mm normal thickness (.531)	100	\$103.00	\$10,300.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
107	LF 15.0 mm normal thickness (.591)	100	\$108.50	\$10,850.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
108	LF Charge for each 1.5mm thickness increase per LF exceeding 15.0 mm	1	\$3.90	\$3.90
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
109	LF 9.0 mm normal thickness (.354)	100	\$83.90	\$8,390.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
110	LF 10.5 mm normal thickness (.413)	100	\$99.40	\$9,940.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			

111	LF 12.0 mm normal thickness (.472) Manufacturer: Manufacturer #:	100	\$107.70	\$10,770.00
	Supplier Notes:			
112	LF 13.5 mm normal thickness (.531)	100	\$113.50	\$11,350.00
	Manufacturer: Manufacturer #: Supplier Notes:			
113	LF 15.0 mm normal thickness (.591)	100	\$118.70	\$11,870.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
114	LF Charge for each 1.5mm thickness increase per LF exceeding 15.0 mm	1	\$4.70	\$4.70
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
115	LF 10.5 mm normal thickness (.413)	350	\$109.60	\$38,360.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
116	LF 12.0 mm normal thickness (.472)	350	\$132.60	\$46,410.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
117	LF 13.5 mm normal thickness (.531)	350	\$140.10	\$49,035.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
118	LF 15.0 mm normal thickness (.591)	350	\$147.10	\$51,485.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
119	LF 16.5 mm normal thickness (.650)	350	\$153.10	\$53,585.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			

120	LF 18.0 mm normal thickness (.709)	350	\$160.90	\$56,315.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
121	LF Charge for each 1.5mm thickness increase per LF exceeding 18.0 mm	1	\$4.80	\$4.80
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
122	LF 10.5 mm normal thickness (.413)	350	\$128.20	\$44,870.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
123	LF 12.0 mm normal thickness (.472)	350	\$154.50	\$54,075.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
124	LF 13.5 mm normal thickness (.531)	350	\$162.40	\$56,840.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
125	LF 15.0 mm normal thickness (.591)	350	\$170.20	\$59,570.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
126	LF 16.5 mm normal thickness (.650)	350	\$178.10	\$62,335.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
127	LF 18.0 mm normal thickness (.709)	350	\$184.90	\$64,715.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
128	LF Charge for each 1.5mm thickness increase per LF exceeding 18.0 mm	1	\$6.10	\$6.10
	Manufacturer: Manufacturer #:			
	Supplier Notes:			

129	LF 12.0 mm normal thickness (.472)	350	\$160.30	\$56,105.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
130	LF 13.5 mm normal thickness (.531)	350	\$168.30	\$58,905.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
131	LF 15.0 mm normal thickness (.591)	350	\$197.00	\$68,950.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
132	LF 16.5 mm normal thickness (.650)	350	\$206.00	\$72,100.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
133	LF 18.0 mm normal thickness (.709)	350	\$213.90	\$74,865.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
134	LF 19.5 mm normal thickness (.768)	350	\$229.20	\$80,220.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
135	LF 21.0 mm normal thickness (.827)	350	\$236.80	\$82,880.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
136	LF Charge for each 1.5mm thickness increase per LF exceeding 21.0 mm	1	\$6.80	\$6.80
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
137	LF 10.5 mm normal thickness (.413)	1	\$180.10	\$180.10
	Manufacturer: Manufacturer #:			
	Supplier Notes:			

N	F 12.0 mm normal thickness (.472) Manufacturer: Manufacturer #:	1	\$191.20	\$191.20
5	Supplier Notes:			
	LF 13.5 mm normal thickness (.531) Manufacturer: Manufacturer #:	1	\$200.20	\$200.20
5	Supplier Notes:			
140 L	LF 15.0 mm normal thickness (.591)	1	\$209.30	\$209.30
	Manufacturer: Manufacturer #:			
8	Supplier Notes:			
141 L	LF 16.5 mm normal thickness (.650)	1	\$216.70	\$216.70
N	Manufacturer: Manufacturer #:			
8	Supplier Notes:			
142 L	LF 18.0 mm normal thickness (.709)	1	\$252.90	\$252.90
N	Manufacturer: Manufacturer #:			
8	Supplier Notes:			
143 L	LF 19.5 mm normal thickness (.768)	1	\$267.40	\$267.40
N	Manufacturer: Manufacturer #:			
S	Supplier Notes:			
144 L	LF 21.0 mm normal thickness (.827)	1	\$278.60	\$278.60
N	Manufacturer: Manufacturer #:			
S	Supplier Notes:			
145 L	LF 22.5 mm normal thickness (.886)	1	\$289.70	\$289.70
N	Manufacturer: Manufacturer #:			
5	Supplier Notes:			
146 L	F Charge for each 1.5mm thickness increase per LF exceeding 22.5 mm	1	\$7.60	\$7.60
N	Manufacturer: Manufacturer #:			
5	Supplier Notes:			

147	LF 10.5 mm normal thickness (.413) Manufacturer: Manufacturer #:	1	\$214.40	\$214.40
	Supplier Notes:			
148	LF 12.0 mm normal thickness (.472) Manufacturer: Manufacturer #:	1	\$226.30	\$226.30
	Supplier Notes:			
149	LF 13.5 mm normal thickness (.531)	1	\$236.40	\$236.40
143	Manufacturer: Manufacturer #:	·	Ψ200.40	Ψ200.40
	Supplier Notes:			
	Supplier Notes.			
150	LF 15.0 mm normal thickness (.591)	1	\$246.40	\$246.40
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
151	LF 16.5 mm normal thickness (.650)	1	\$254.90	\$254.90
131	Manufacturer: Manufacturer #:	I	φ234.90	φ254.90
	Supplier Notes:			
152	LF 18.0 mm normal thickness (.709)	1	\$265.70	\$265.70
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
153	LF 19.5 mm normal thickness (.768)	1	\$312.60	\$312.60
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
154	LF 21.0 mm normal thickness (.827)	1	\$324.90	\$324.90
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
155	LF 22.5 mm normal thickness (.886)	1	\$337.40	\$337.40
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
	• •			

156	LF Charge for each 1.5mm thickness increase per LF exceeding 22.5 mm	1	\$11.10	\$11.10
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
157	LF 10.5 mm normal thickness (.413)	1	\$468.90	\$468.90
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
158	LF 12.0 mm normal thickness (.472)	1	\$473.80	\$473.80
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
159	LF 13.5 mm normal thickness (.531)	1	\$485.90	\$485.90
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
160	LF 15.0 mm normal thickness (.591)	1	\$497.90	\$497.90
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
161	LF 16.5 mm normal thickness (.650)	1	\$510.40	\$510.40
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
162	LF 18.0 mm normal thickness (.709)	1	\$523.60	\$523.60
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
163	LF 19.5 mm normal thickness (.768)	1	\$605.60	\$605.60
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
164	LF 21.0 mm normal thickness (.827)	1	\$620.90	\$620.90
	Manufacturer: Manufacturer #:			
	Supplier Notes:			

165	LF 22.5 mm normal thickness (.886) Manufacturer: Manufacturer #:	1	\$633.00	\$633.00
	Supplier Notes:			
166	LF Charge for each 1.5mm thickness increase per LF exceeding 22.5 mm Manufacturer: Manufacturer #:	1	\$13.70	\$13.70
	Supplier Notes:			
167	LF 10.5 mm normal thickness (.413)	1	\$574.60	\$574.60
	Manufacturer: Manufacturer #: Supplier Notes:			
168	LF 12.0 mm normal thickness (.472)	1	\$579.50	\$579.50
	Manufacturer: Manufacturer #: Supplier Notes:			
169	LF 13.5 mm normal thickness (.531)	1	\$591.70	\$591.70
	Manufacturer: Manufacturer #: Supplier Notes:			
170	LF 15.0 mm normal thickness (.591)	1	\$605.60	\$605.60
	Manufacturer: Manufacturer #: Supplier Notes:			
171	LF 16.5 mm normal thickness (.650)	1	\$622.10	\$622.10
	Manufacturer: Manufacturer #: Supplier Notes:			
172	LF 18.0 mm normal thickness (.709)	1	\$637.70	\$637.70
	Manufacturer: Manufacturer #: Supplier Notes:			
173	LF 19.5 mm normal thickness (.768)	1	\$735.90	\$735.90
	Manufacturer: Manufacturer #: Supplier Notes:			

174	LF 21.0 mm normal thickness (.827)	1	\$753.90	\$753.90
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
175	LF 22.5 mm normal thickness (.886)	1	\$765.70	\$765.70
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
176	LF Charge for each 1.5mm thickness increase per LF exceeding 22.5 mm	1	\$15.40	\$15.40
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
177	LF 8 - 12 inches diameter	1	\$1.90	\$1.90
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
178	LF 14 - 18 inches diameter	1	\$2.40	\$2.40
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
179	LF 20 - 24 inches diameter	1	\$3.20	\$3.20
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
180	LF 27 - 42 inches diameter	1	\$4.50	\$4.50
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
181	LF 48 - 72 inches diameter	1	\$6.60	\$6.60
	Supplier Notes:			
182	LF Up to 84 inches diameter	1	\$11.60	\$11.60
	Supplier Notes:			

183	LF 8 - 12 inches diameter	1	\$2.40	\$2.40
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
184	LF 14 - 18 inches diameter	1	\$4.20	\$4.20
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
185	LF 20 - 24 inches diameter	1	\$8.50	\$8.50
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
186	LF 27 - 42 inches diameter	1	\$10.60	\$10.60
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
187	LF 48 - 72 inches diameter	1	\$12.70	\$12.70
	Supplier Notes:			
188	LF Up to 84inches diameter	1	\$19.00	\$19.00
	Supplier Notes:			
189	LF 8 - 12 inches diameter	1	\$4.20	\$4.20
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
190	LF 14 - 18 inches diameter	1	\$8.50	\$8.50
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
191	LF 20 - 24 inches diameter	1	\$12.70	\$12.70
	Manufacturer: Manufacturer #:			
	Supplier Notes:			

192	LF 27 - 42 inches diameter	1	\$16.90	\$16.90
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
193	LF 48 - 72 inches diameter	1	\$19.00	\$19.00
	Supplier Notes:			
194	LF Up to 84 inches diameter	1	\$31.70	\$31.70
	Supplier Notes:			
195	LF 8 - 12 inches diameter	1	\$4.00	\$4.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
196	LF 14 - 18 inches diameter	1	\$5.00	\$5.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
197	LF 20 - 24 inches diameter	1	\$6.30	\$6.30
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
198	LF 27 - 42 inches diameter	1	\$8.50	\$8.50
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
199	LF 48 - 72 inches diameter	1	\$12.70	\$12.70
	Supplier Notes:			
200	LF Up to 84inches diameter	1	\$42.30	\$42.30
	Supplier Notes:			
201	LF 8 - 12 inches diameter	1	\$13.80	\$13.80
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
	Supplier Notes:			
	Supplier Notes:			

202	LF 14 - 18 inches diameter	1	\$15.90	\$15.90
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
203	LF 20 - 24 inches diameter	1	\$19.00	\$19.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
204	LF 27 - 42 inches diameter	1	\$26.40	\$26.40
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
205	LF 48 - 72 inches diameter	1	\$31.70	\$31.70
	Supplier Notes:			
206	LF Up to 84inches diameter	1	\$68.80	\$68.80
	Supplier Notes:			
207	LF 8 inches diameter	1,500	\$.10	\$150.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
208	LF 10 inches diameter	750	\$.10	\$75.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
209	LF 12 inches diameter	900	\$2.10	\$1,890.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
210	LF 15 inches diameter	380	\$5.30	\$2,014.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			

211	LF 18 inches diameter	340	\$10.60	\$3,604.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
212	LF 21 inches diameter	750	\$12.70	\$9,525.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
213	LF 24 inches diameter	1,000	\$15.90	\$15,900.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
214	LF 27 inches diameter	1	\$37.00	\$37.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
215	LF 30 inches diameter	1	\$52.90	\$52.90
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
216	LF 36 inches diameter	1	\$68.80	\$68.80
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
217	Each Standard Service Reconnection	1	\$500.00	\$500.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
218	Each Service Connection - Grouting	1	\$300.00	\$300.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
219	Setup Flagman	1	\$338.50	\$338.50
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
	• •			

220	Setup Arrow Board	1	\$185.10	\$185.10
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
221	Setup Barricades	1	\$1,586.80	\$1,586.80
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
222	Setup Lane Dividers	1	\$528.90	\$528.90
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
223	Setup Flagman	1	\$338.50	\$338.50
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
224	Setup Arrow Board	1	\$185.10	\$185.10
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
225	Setup Barricades	1	\$1,057.80	\$1,057.80
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
226	Setup Lane Dividers	1	\$528.90	\$528.90
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
227	Setup Flagman	1	\$338.50	\$338.50
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
228	Setup Arrow Board	1	\$185.10	\$185.10
	Manufacturer: Manufacturer #:			
	Supplier Notes:			

229	Setup Barricades Manufacturer: Manufacturer #:	1	\$1,057.80	\$1,057.80
	Supplier Notes:			
230	Setup Lane Dividers	1	\$528.90	\$528.90
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
231	LF 6 - 12 inches diameter	1	\$2.60	\$2.60
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
232	LF 14 - 18 inches diameter	1	\$3.70	\$3.70
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
233	LF 20 - 24 inches diameter	1	\$5.00	\$5.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
234	LF 27 - 30 inches diameter	1	\$9.30	\$9.30
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
235	EA Inspection from main up to 30 ft 4 6 inches	17	\$290.90	\$4,945.30
	Supplier Notes:			
236	EA Inspection from main beyond 30 ft	4	\$15.90	\$63.60
	Supplier Notes:			
237	EA Inspection from clean out up to 30 ft	17	\$105.80	\$1,798.60
	Supplier Notes:			
238	EA Inspection from clean out beyond 30 ft	4	\$5.30	\$21.20
	Supplier Notes:			

239	EA CIPP Lateral Liner 4-6 inches up to 30 ft with Brim Type Main/Lateral Connection	34	\$2,500.00	\$85,000.00
	Supplier Notes:			
240	EA CIPP Lateral Liner 4-6 inches up to 30 ft with Full Circle Type Main/Lateral Connection System	34	\$3,358.60	\$114,192.40
	Supplier Notes:			
241	EA CIPP Lateral Liner 4-6 inches Diameter beyond 30 ft	7	\$52.90	\$370.30
	Supplier Notes:			
242	LS Mobilization	1	\$2,644.60	\$2,644.60
	Supplier Notes:			
243	EA Cured-in-place 8 - inch sectional pipe lining 8 linear feet in length	10	\$2,115.70	\$21,157.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
244	EA Additional length of cured-in-place sectional pipe lining beyond 8 linear feet in length	10	\$317.40	\$3,174.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
245	EA Cured-in-place 10- inch sectional pipe lining 8 linear feet in length	10	\$2,644.60	\$26,446.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
246	EA Additional length of cured-in-place 10 inch sectional pipe lining beyond 8 linear feet in length	n 10	\$423.10	\$4,231.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
247	EA Reinstatement of service laterals	10	\$500.00	\$5,000.00
	Manufacturer: Manufacturer #:			
	Supplier Notes:			
248	LS Indemnification	1	\$10.00	\$10.00
	Supplier Notes:			

Award Total: \$3,484,918.90

BID PROPOSAL

- 1. The undersigned BIDDER proposes and agrees, if this Bid is accepted, to enter into an agreement with OWNER in the form included in the Contract Documents to perform and furnish all Work as specified or indicated in the Contract Documents for the Contract Price and within the Contract Time indicated in this Bid and in accordance with the other terms and conditions of the Contract Documents.
- 2. BIDDER accepts all of the terms and conditions of the Advertisement or Invitation to Bid and Instructions to Bidders, including without limitation those dealing with the disposition of Bid Security. This Bid will remain subject to acceptance for ninety (90) Days after the Bid Opening. BIDDER will sign and submit the Agreement with the Bonds and other documents required by Bidding Requirements within ten (10) days after the date of OWNER'S Notice of Award.
- 3. In submitting this Bid, BIDDER represents, as more fully set forth in the Agreement, that:
- A. BIDDER has examined copies of all the bidding Documents and the Addenda.
- B. BIDDER has familiarized itself with the nature and extent of the Contract Documents, Work, site, locality, and all local conditions and Laws and Regulations that in any manner may affect cost, progress, performance or furnishing of the Work.
- C. BIDDER has studied carefully all reports and drawings of physical conditions which are identified in the bid.
- D. BIDDER has obtained and carefully studied (or assumes responsibility for obtaining and carefully studying) all such examinations, investigations, explorations, tests and studies (in addition to or to supplement those referred to in (C) above) which pertain to the subsurface or physical conditions at the site or otherwise may affect the cost, progress, performance or furnishing of the Work as BIDDER considers necessary for the performance or furnishing of the Work at the Contract Price within the Contract Time and in accordance with the other terms and conditions of the Contract Documents, and no additional examinations, investigations, explorations, tests, reports or similar information or data are or will be required by BIDDER for such purposes.
- E. Bidder has reviewed and checked all information and data shown or indicated on the Contract Documents with respect to existing site conditions and assumes responsibility for such. No additional examinations, investigations, explorations, tests, reports or similar information or data in respect of said site are or will be required by Bidder in order to perform and furnish the Work at Work Contract Price, within the Contract Time and in accordance with other terms and conditions of the Contract Documents.
- F. BIDDER has correlated the results of all such observations, examinations, investigations, explorations, tests, reports and studies with the terms and conditions of the Contract Documents.
- G. BIDDER has given OWNER written notice of all conflicts, errors or discrepancies that it has discovered in the Contract Documents and the written resolution thereof by Owner is acceptable to Bidder.

- H. This Bid is genuine and not made in the interest or on behalf of any undisclosed person, firm or corporation and is not submitted in conformity with any agreement or rules of any group, or corporation; BIDDER has not directly or indirectly induced or solicited any other Bidder to submit a false or sham Bid; BIDDER has not solicited or induced any person, firm or corporation to refrain from bidding; and BIDDER has not sought by collusion to obtain for itself any advantage over any other Bidding or over OWNER.
- 4. BIDDER agrees that the construction of the Project will be substantially complete within 365 calendar days after the date when the Contract Time commences to run as provided in the GENERAL CONDITIONS, and completed and ready for final payment within 365 calendar days after the date when the Contract Time commences to run.
 - BIDDER accepts the provisions of the Agreement as to liquidated damages in the event of failure to complete the Work on time.
- 5. BIDDER agrees that all Federal, State and local sales and use taxes are included in the stated bid prices for the Work.
- 6. BIDDER further proposes to accept as full payment for the work proposed herein the amounts computed under the provisions of the Contract Documents and based on the following unit prices (if applicable) represent a true measure of the labor, materials, equipment and any other incidentals required to perform the work, including all allowances for overhead and profit for each type and unit of work called for in these Contract Documents.

7. BID PROPOSAL

For the following, furnish all tools, materials, labor and any other incidentals required for the cured-in-place rehabilitation of sanitary sewer and storm drainage pipes as needed throughout the City of Pompano Beach.as specified herein:

BID LINE ITEM PRICING MUST BE SUBMITTED ELECTRONICALLY USING THE CITY'S EBID SYSTEM.

Description	Est. Qty.	Uni t	Unit Cost	Total
CIPP Rehabilitation - Sanitary Sewer Mains				

Α	8" diameter				
A-1	6.0 mm normal thickness (.236)	25,000	LF	\$_20.50	\$_512,500.00
A-2	7.5 mm normal thickness (.0295)	800	LF	\$21.20	\$16,960.00
A-3	9.0 mm normal thickness (.354)	800	LF	\$22.00	\$17,600.00
В	10" diameter				
B-1	6.0 mm normal thickness (.236)	2,250	LF	\$23.20	\$ 52,200.00
B-2	7.5 mm normal thickness (.0295)	125	LF	\$24.00	\$3,000.00
B-3	9.0 mm normal thickness (.354)	125	LF	\$25.00	\$3,125.00
С	12" diameter				
C-1	6.0 mm normal thickness (.236)	50	LF	\$25.50	\$1,275.00
C-2	7.5 mm normal thickness (.0295)	900	LF	\$27.60	\$24,840.00
C-3	9.0 mm normal thickness (.354)	50	LF	\$_32.50	\$1,625.00
D	15" diameter				
D-1	6.0 mm normal thickness (.236)	20	LF	\$ 28.90	\$578.00
D-2	7.5 mm normal thickness (.0295)	360	LF	\$34.70	\$12,492.00
D-3	9.0 mm normal thickness (.354)	20	LF	\$40.20	\$804.00
Е	18" diameter				
E-1	6.0 mm normal thickness (.236)	20	LF	\$35.30	\$706.00
E-2	7.5 mm normal thickness (.0295)	20	LF	\$42.60	\$852.00
E-3	9.0 mm normal thickness (.354)	340	LF	\$48.60	\$16,524.00
E-4	10.5 mm normal thickness (.413)	20	LF	\$_51.60	\$1,032.00
F	21" diameter				
F-1	6.0 mm normal thickness (.236)	150	LF	\$_37.00	\$5,550.00
F-2	7.5 mm normal thickness (.0295)	300	LF	\$44.00	\$13,200.00
F-3	9.0 mm normal thickness (.354)	300	LF	\$66.50	\$19,950.00
F-4	10.5 mm normal thickness (.413)	750	LF	\$68.00	\$51,000.00
F-5	12.0 mm normal thickness (.472)	300	LF	\$_72.00	\$ 21,600.00
F-6	Charge for each 1.5mm thickness	1	LF	\$3.20	\$3.20

	increase per LF exceeding 12.0 mm				
G	24" diameter				
G-1	9.0 mm normal thickness (.354)	500	LF	\$_61.60	\$_30,800.00
G-2	10.5 mm normal thickness (.413)	500	LF	\$_73.70	\$36,850.00
G-3	12.0 mm normal thickness (.472)	500	LF	\$80.20	\$40,100.00
G-4	13.5 mm normal thickness (.531)	1000	LF	\$84.60	\$84,600.00
G-5	15.0 mm normal thickness (.591)	500	LF	\$_89.20	\$_44,600.00
G-6	Charge for each 1.5mm thickness increase per LF exceeding 15.0 mm	1	LF	\$3.70	\$3.70
Н	27" diameter				
H-1	9.0 mm normal thickness (.354)	150	LF	\$66.30	\$9,945.00
H-2	10.5 mm normal thickness (.413)	150	LF	\$79.90	\$11,985.00
H-3	12.0 mm normal thickness(.472)	150	LF	\$_87.20	\$13,080.00
H-4	13.5 mm normal thickness (.531)	150	LF	\$92.70_	\$13,905.00
H-5	15.0 mm normal thickness (.591)	150	LF	\$98.10	\$14,715.00
H-6	Charge for each 1.5mm thickness increase per LF exceeding 15.0 mm	1	LF	\$3.90	\$3.90
1	30" diameter				
I-1	9.0 mm normal thickness (.354)	100	LF	\$_74.40	\$7,440.00
I-2	10.5 mm normal thickness (.413)	100	LF	\$78.90	\$
I-3	12.0 mm normal thickness (.472)	100	LF	\$96.90	\$9,690.00
I-4	13.5 mm normal thickness (.531)	100	LF	\$102.50	\$10,250.00
I-5	15.0 mm normal thickness (.591)	350	LF	\$107.70	\$37,695.00
I-6	Charge for each 1.5mm thickness increase per LF exceeding 15.0 mm	1	LF	\$4.70	\$4.70
J	36" diameter				
J-1	10.5 mm normal thickness (.413)	100	LF	\$90.00	\$9,000.00
J-2	12.0 mm normal thickness (.472)	100	LF	\$119.10_	\$11,910.00
J-3	13.5 mm normal thickness (.531)	100	LF	\$126.40	\$12,640.00

J-4	15.0 mm normal thickness (.591)	100	LF	\$133.30	\$13,330.00
J-5	16.5 mm normal thickness (.650)	350	LF	\$139.20	\$48,720.00
J-6	18.0 mm normal thickness (.709)	350	LF	\$146.80_	\$51,380.00
J-7	Charge for each 1.5mm thickness increase per LF exceeding 18.0 mm	1	LF	\$4.80	\$4.80
	Clean - Sanitary Sewer Mains				
K	Light Cleaning				
K-1	8" – 12" diameter	28,150	LF	\$1.70	\$_47,855.00
K-2	14" – 18" diameter	800	LF	\$2.20	\$1,760.00
K-3	20" – 24" diameter	1750	LF	\$4.40	\$7,700.00
K-4	27" – 42" diameter	850	LF	\$4.70	\$3,995.00
K-5	48" – 72" diameter	1	LF	\$_8.50	\$_8.50
L	Medium Cleaning				
L-1	8" - 12" diameter	4	LF	\$1.60	\$1.60
L-2	14" - 18" diameter	1	LF	\$2.10	\$2.10
L-3	20" - 24" diameter	ň	LF	\$\$	\$\$
L-4	27" - 42" diameter	1	LF	\$4.20	\$4.20
L-5	48" - 72" diameter	1	LF	\$6.90	\$6.90
М	Heavy Cleaning				
M-1	8" - 12" diameter	1	LF	\$3.70	\$3.70
M-2	14" - 18" diameter	1	LF	\$5.30	\$5.30
M-3	20" - 24" diameter	1	LF	\$10.60	\$10.60
M-4	27" - 42" diameter	1	LF	\$12.70	\$12.70
M-5	48" - 72" diameter	1	LF	\$14.80	\$14.80
N	Root Removal				
N-1	8" - 12" diameter	1	LF	\$4.00	\$4.00

N-2	14" - 18" diameter	1	LF	\$_5.00	\$5.00
N-3	20" - 24" diameter	1	LF	\$6.30	\$6.30
N-4	27" - 42" diameter	1	LF	\$8.50	\$8.50
N-5	48" – 72" diameter	1	LF	\$12.70	\$12.70
0	Tuberculation Cleaning				
O-1	8" – 12" diameter	1	LF	\$13.80	\$13.80
0-2	14" - 18" diameter	1	LF	\$15.90	\$15.90
O-3	20" - 24" diameter	1	LF	\$19.00	\$19.00
0-4	27" - 42" diameter	1	LF	\$26.40	\$26.40
O-5	48" - 72" diameter	1	LF	\$31.70	\$31.70
	CIPP Rehabilitation - Storm Sewer Mains				
Р	8" diameter				
P-1	6.0 mm normal thickness (.236)	500	LF	\$38.00	\$19,000.00
P-2	7.5 mm normal thickness (.0295)	250	LF	\$_40.00	\$10,000.00
P-3	9.0 mm normal thickness (.354)	250	LF	\$51.30	\$12,825.00
Q	10" diameter				
Q-1	6.0 mm normal thickness (.236)	500	LF	\$_43.40	\$21,700.00
Q-2	7.5 mm normal thickness (.0295)	500	LF	\$45.60	\$22,800.00
Q-3	9.0 mm normal thickness (.354)	350	LF	\$57.30	\$20,055.00
R	12" diameter				
R-1	6.0 mm normal thickness (.236)	250	LF	\$46.40	\$11,600.00
R-2	7.5 mm normal thickness (.0295)	700	LF	\$_48.80	\$_34,160.00
R-3	9.0 mm normal thickness (.354)	250	LF	\$60.80	\$15,200.00
S	15" diameter				
S-1	6.0 mm normal thickness (.236)	250	LF	\$51.70_	\$12,925.00

S-2	7.5 mm normal thickness (.0295)	1000	LF	\$ 60.40	\$_60,400.00
S-3	9.0 mm normal thickness (.354)	250	LF	\$_73.00	\$_18,250.00
S-4	Charge for each 1.5mm thickness increase per LF exceeding 9.0 mm	1	LF	\$_1.80	\$_1.80
Т	18" diameter				
T-1	6.0 mm normal thickness (.236)	250	LF	\$ 59.90	\$14,975.00
T-2	7.5 mm normal thickness (.0295)	250	LF	\$_70.40	\$_17,600.00
T-3	9.0 mm normal thickness (.354)	1000	LF	\$ 83.50	\$_83,500.00
T-4	10.5 mm normal thickness (.413)	250	LF	\$ 86.70	\$21,675.00
T-5	Charge for each 1.5mm thickness increase per LF exceeding 10.5 mm	1	LF	\$3.20	\$3.20
U	21" diameter				
U-1	6.0 mm normal thickness (.236)	100	LF	\$_67.00	\$_6,700.00
U-2	7.5 mm normal thickness (.0295)	100	LF	\$71.20	\$7,120.00_
U-3	9.0 mm normal thickness (.354)	100	LF	\$_82.80	\$8,280.00
U-4	10.5 mm normal thickness (.413)	100	LF	\$_88.20	\$8,820.00
U-5	12.0 mm normal thickness (.472)	100	LF	\$96.10	\$9,610.00
U-6	Charge for each 1.5mm thickness increase per LF exceeding 12.0 mm	1	LF	\$_3.20	\$_ 3.20
V	24" diameter				
V-1	9.0 mm normal thickness (.354)	250	LF	\$_92.30	\$23,075.00
V-2	10.5 mm normal thickness (.413)	250	LF	\$_97.40	\$_24,350.00
V-3	12.0 mm normal thickness (.472)	250	LF	\$107.10	\$26,775.00
V-4	13.5 mm normal thickness (.531)	250	LF	\$11.70	\$_27,925.00
V-5	15.0 mm normal thickness (.591)	250	LF	\$_116.60	\$ 29,150.00
V-6	Charge for each 1.5mm thickness increase per LF exceeding 15.0 mm	1	LF	\$_3.70	\$3.70
W	27" diameter				
W-1	9.0 mm normal thickness (.354)	100	LF	\$74.60	\$7,460.00
W-2	10.5 mm normal thickness (.413)	100	LF	\$_89.10	\$8,910.00

W-3	12.0 mm normal thickness	100	LF	\$_97.40	\$_9,740.00
W-4	13.5 mm normal thickness (.531)	100	LF	\$_103.00	\$_10,300.00
W-5	15.0 mm normal thickness (.591)	100	LF	\$_108.50	\$_10,850.00
W-6	Charge for each 1.5mm thickness increase per LF exceeding 15.0 mm	1	LF	\$_3.90	\$_ 3.90
Х	30" diameter				·g
X-1	9.0 mm normal thickness (.354)	100	LF	\$_83.90	\$_8,390.00
X-2	10.5 mm normal thickness (.413)	100	LF	\$_99.40	\$_9,940.00
X-3	12.0 mm normal thickness (.472)	100	LF	\$_107.70	\$_10,770.00
X-4	13.5 mm normal thickness (.531)	100	LF	\$ <u>113.50</u>	\$_11,350.00
X-5	15.0 mm normal thickness (.591)	100	LF	\$_118.70	\$_11,870.00
X-6	Charge for each 1.5mm thickness increase per LF exceeding 15.0 mm	1	LF	\$_4.70	\$_4.70
Υ	36" diameter				
Y-1	10.5 mm normal thickness (.413)	350	LF	\$_109.60	\$_38,360.00
Y-2	12.0 mm normal thickness (.472)	350	LF	\$_132.60	\$_46,410.00
Y-3	13.5 mm normal thickness (.531)	350	LF	\$_140.10	\$_49,035.00
Y-4	15.0 mm normal thickness (.591)	350	LF	\$_147.10	\$_51,485.00
Y-5	16.5 mm normal thickness (.650)	350	LF	\$_153.10	\$ 53,585.00
Y-6	18.0 mm normal thickness (.709)	350	LF	\$_160.90	\$56,315.00
Y-7	Charge for each 1.5mm thickness increase per LF exceeding 18.0 mm	1	LF	\$_4.80	\$4.80
Z	42" diameter				
Z-1	10.5 mm normal thickness (.413)	350	LF	\$_128.20	\$_44,870.00
Z-2	12.0 mm normal thickness (.472)	350	LF	\$_154.50	\$_54,075.00
Z-3	13.5 mm normal thickness (.531)	350	LF	\$_162.40	\$_56,840.00
Z-4	15.0 mm normal thickness (.591)	350	LF	\$_170.20	\$ 59,570.00
Z-5	16.5 mm normal thickness (.650)	350	LF	\$_178.10	\$_62,335.00
Z-6	18.0 mm normal thickness (.709)	350	LF	\$_184.90	\$ 64,715.00

Z-7	Charge for each 1.5mm thickness increase per LF exceeding 18.0 mm	1	LF	\$_6.10	\$_6.10
AA	48" diameter				
AA-1	12.0 mm normal thickness (.472)	350	LF	\$_160.30	\$_56,105.00
AA-2	13.5 mm normal thickness (.531)	350	LF	\$_168.30	\$ 58,905.00
AA-3	15.0 mm normal thickness (.591)	350	LF	\$197.00	\$ 68,950.00
AA-4	16.5 mm normal thickness (.650)	350	LF	\$_206.00	\$_72,100.00
AA-5	18.0 mm normal thickness (.709)	350	LF	\$_213.90	\$_74,865.00
AA-6	19.5 mm normal thickness (.768)	350	LF	\$_229.20	\$_80,220.00
AA-7	21.0 mm normal thickness (.827)	350	LF	\$_236.80	\$ 82,880.00
AA-8	Charge for each 1.5mm thickness increase per LF exceeding 21.0 mm	1.	LF	\$_6.80	\$_6.80
BB	52" diameter - DELIBERATELY OMITTED				
CC	54" diameter				
CC-1	10.5 mm normal thickness (.413)	1	LF	\$180.10	\$180.10
CC-2	12.0 mm normal thickness (.472)	1	LF	\$191.20	\$191.20
CC-3	13.5 mm normal thickness (.531)	1	LF	\$_200.20	\$_200.20
CC-4	15.0 mm normal thickness (.591)	1	LF	\$ 209.30	\$209.30
CC-5	16.5 mm normal thickness (.650)	1	LF	\$ 216.70	\$216.70
CC-6	18.0 mm normal thickness (.709)	1	LF	\$_252.90	\$252.90
CC-7	19.5 mm normal thickness (.768)	1	LF	\$267.40	\$267.40
CC-8	21.0 mm normal thickness (.827)	1	LF	\$_278.60	\$\$
CC-9	22.5 mm normal thickness (.886)	1	LF	\$289.70	\$289.70
CC-10	Charge for each 1.5mm thickness increase per LF exceeding 22.5 mm	1	LF	\$_7.60	\$7.60
DD	60" diameter				
DD-1	10.5 mm normal thickness (.413)	1	LF	\$_214.40	\$214.40
DD-2	12.0 mm normal thickness (.472)	1	LF	\$_226.30	\$226.30

DD-3	13.5 mm normal thickness (.531)	1	LF	\$ 236.40	\$_236.40
DD-4	15.0 mm normal thickness (.591)	1	LF	\$ 246.40	\$ 246.40
DD-5	16.5 mm normal thickness (.650)	1	LF	\$_254.90	\$254.90
DD-6	18.0 mm normal thickness (.709)	1	LF	\$_265.70	\$_265.70
DD-7	19.5 mm normal thickness (.768)	1	LF	\$312.60	\$312.60
DD-8	21.0 mm normal thickness (.827)	1	LF	\$_324.90	\$324.90
DD-9	22.5 mm normal thickness (.886)	1	LF	\$337.40	\$337.40
DD-10	Charge for each 1.5mm thickness increase per LF exceeding 22.5 mm	1	LF	\$11.10	\$11.10
EE	72" diameter				
EE-1	10.5 mm normal thickness (.413)	1	LF	\$_468.90	\$468.90
EE-2	12.0 mm normal thickness (.472)	1	LF	\$ 473.80	\$_473.80
EE-3	13.5 mm normal thickness (.531)	1	LF	\$ 485.90	\$_485.90
EE-4	15.0 mm normal thickness (.591)	1	LF	\$_497.90	\$497.90
EE-5	16.5 mm normal thickness (.650)	1	LF	\$510.40	\$510.40
EE-6	18.0 mm normal thickness (.709)	1	LF	\$_523.60	\$523.60
EE-7	19.5 mm normal thickness (.768)	1	LF	\$_605.60	\$605.60
EE-8	21.0 mm normal thickness (.827)	1	LF	\$_620.90	\$620.90
EE-9	22.5 mm normal thickness (.886)	1	LF	\$_633.00	\$_633.00
EE-10	Charge for each 1.5mm thickness increase per LF exceeding 22.5 mm	1	LF	\$_13.70	\$_13.70
FF	84" diameter			3	
FF-1	10.5 mm normal thickness (.413)	1	LF	\$_547.60	\$547.60_
FF-2	12.0 mm normal thickness (.472)	1	LF	\$ 579.50	\$ 579.50
FF-3	13.5 mm normal thickness (.531)	1	LF	\$591.70_	\$591.70
FF-4	15.0 mm normal thickness (.591)	1	LF	\$_605.60_	\$605.60_
FF-5	16.5 mm normal thickness (.650)	1	LF	\$622.10_	\$622.10
FF 6	18.0 mm normal thickness (.709)	1	LF	\$ 637.70	\$ 637.70
FF-6	THE HIM HALLIE BURNINGS VICES		588		

FF-8	21.0 mm normal thickness (.827)	1	LF	\$ 753.90	\$ 753.90
FF-9	22.5 mm normal thickness (.886)	1	LF	\$ 765.70	\$ 765.70
FF-10	Charge for each 1.5mm thickness increase per LF exceeding 22.5 mm	1	LF	\$_15.40	\$ 15.40
	Clean & Inspection –Storm Sewer Mains				
GG	Light Cleaning and inspection				
GG-1	8" - 12" diameter	1	LF	\$1.90	\$1.90
GG-2	14" - 18" diameter	1	LF	\$2.40	\$2.40
GG-3	20" - 24" diameter	1	LF	\$3.20	\$3.20
GG-4	27" - 42" diameter	1	LF	\$4.50	\$4.50
GG-5	48" - 72" diameter	1	LF	\$6.60	\$6.60
GG-6	Up to 84" diameter	1	LF	\$11.60	\$11.60
НН	Medium Cleaning				
HH-1	8" - 12" diameter	1	LF	\$2.40	\$2.40
HH-2	14"- 18" diameter	1	LF	\$4.20	\$4.20
HH-3	20" - 24" diameter	1	LF	\$_8.50	\$8.50
HH-4	27" - 42" diameter	1	LF	\$10.60	\$10.60
HH-5	48"- 72" diameter	1	LF	\$12.70	\$12.70
HH-6	Up to 84" diameter	1	LF	\$19.00	\$19.00
П	Heavy Cleaning				
II-1	8" - 12" diameter	1	LF	\$4.20	\$4.20
II-2	14" - 18" diameter	1	LF	\$8.50	\$8.50
II-3	20" - 24" diameter	1	LF	\$12.70	\$12.70
11-4	27"- 42" diameter	1	LF	\$16.90	\$16.90
II-5	48"- 72" diameter	1	LF	\$19.00_	\$19.00
II-6	Up to 84" diameter	1	LF	\$_31.70	\$31.70
JJ	Root Removal				

JJ-1	8" - 12" diameter	1	LF	\$ 4.00	\$ 4.00
	The second secon			\$ 5.00	\$ 5.00
JJ-2	14" - 18" diameter	1	LF		
JJ-3	20" - 24" diameter	1	LF	\$_6.30	\$_6.30
JJ-4	27" - 42" diameter	1	LF	\$_8.50	\$8.50
JJ-5	48"- 72" diameter	1	LF	\$_12.70	\$_12.70
JJ-6	Up to 84" diameter	1	LF	\$42.30	\$42.30
KK	Tuberculation Cleaning				
KK-1	8" - 12" diameter	1	LF	\$_13.80	\$_13.80
KK-2	14" - 18" diameter	1	LF	\$_15.90	\$15.90
KK-3	20" - 24" diameter	1	LF	\$19.00	\$19.00
KK-4	27"- 42" diameter	1	LF	\$26.40	\$26.40
KK-5	48" - 72" diameter	1	LF	\$_31.70	\$31.70
KK-6	Up to 84" diameter	1	LF	\$68.80	\$68.80
	Ancillary Services				
LL	By-Pass Pumping				
LL-1	8" diameter	1,500	LF	\$ 0.10	\$ 150.00
LL-2	10" diameter	750	LF	\$ 0.10	\$_75.00
LL-3	12" diameter	900	LF	\$2.10	\$1,890.00
LL-4	15" diameter	380	LF	\$_5.30	\$2,014.00
LL-5	18" diameter	340	LF	\$_10.60	\$_3,604.00
LL-6	21" diameter	750	LF	\$_12.70	\$_9,525.00
LL-7	24" diameter	1000	LF	\$_15.90	\$_15,900.00
LL-8	27" diameter	1	LF	\$_37.00	\$_37.00
LL-9	30" diameter	1	LF	\$52.90	\$52.90
LL-10	36" diameter	1	LF	\$ 68.80	\$ 68.80

MM	Standard Service Reconnection	1	EA	\$500	\$500
NN	Service Connection - Grouting	1	EA	\$300	\$300
00	Traffic Control - FDOT Right of Way (items listed below)				
00-1	Flagman	1	set up	\$338.50	\$338.50
00-2	Arrow Board	1	set up	\$185.10	\$185.10
00-3	Barricades	1	set up	\$_1,586.80	\$1,586.80
00-4	Lane Dividers	1	set up	\$_528.90	\$_528.90
PP	Traffic Control - City Right of Way (items listed below)				
PP-1	Flagman	1	set up	\$_338.50	\$_338.50
PP-2	Arrow Board	1	set up	\$185.10	\$185.10
PP-3	Barricades	1	set up	\$_1,057.80	\$_1,057.80
PP-4	Lane Dividers	1	set up	\$_528.90	\$_528.90
QQ	Traffic Control - County Right of Way (items listed below)				
QQ-1	Flagman	1	set up	\$_338.50	\$338.50
QQ-2	Arrow Board	1	set up	\$_185.10	\$185.10
QQ-3	Barricades	1	set up	\$1,057.80	\$1,057.80
QQ-4	Lane Dividers	1	set up	\$_528.90	\$_528.90
RR	Easement Access				
RR-1	6" to 12" diameter	1	LF	\$2.60	\$2.60
RR-2	14" to 18" diameter	1	LF	\$3.70	\$3.70

RR-3	20" to 24" diameter	1	LF	\$_5.00	\$_5.00
RR-4	27" to 30" diameter	1	LF	\$_9.30	\$9.30
SS	Service Lateral Lining (items listed below)				
SS-1	Inspection from main up to 30 ft. 4"& 6"	17	EA	\$_290.90	\$_4,945.30
SS-2	Inspection from main beyond 30 ft. 4"& 6"	4	EA	\$_15.90	\$63.60
SS-3	Inspection from clean out up to 30 ft.	17	EA	\$_105.80	\$_1,798.60
SS-4	Inspection from clean out beyond 30 ft.	4	EA	\$_5.30	\$21.20
SS-5	CIPP Lateral Liner 4"-6" up to 30ft. with Brim Type. Main/Lateral Connection System	34	EA	\$2,500.00	\$_85,000.00
SS-6	CIPP Lateral Liner 4"-6" up to 30ft. with Full Circle Type. Main/Lateral Connection System	34	EA	\$_3,358.60	\$ <u>114,192.4</u> 0
SS-7	CIPP Lateral Liner 4"-6" Diameter beyond 30 Ft.	7	EA	\$_52.90	\$_370.30
TT	Mobilization	1	LS	\$2,644.60	\$2,644.60_
UU	Sectional Lining (items listed below)	10	EA	\$	\$
UU-1	Cured-in place 8-inch sectional pipe lining, 8 linear feet in length	10	EA	\$_2,115.70	\$ 21,157.00
UU-2	Additional length of cured-in-place sectional pipe lining beyond 8 linear feet in length	10	EA	\$_317.40	\$_3,174.00
UU-3	Cured-in-place 10-inch sectional pipe lining, 8 linear feet in length	10	EA	\$_2,644.60	\$ 26,446.00
UU-4	Additional length of cured-in-place 10- inch sectional pipe lining beyond 8 linear feet in length	10	EA	\$_423.10	\$_4,231.00_
UU-5	Reinstatement of service laterals	10	EA	\$_500.00	\$_5,000.00
VV	Indemnification	1	LS	\$10.00	<u>\$10.00</u>
	GRAND TOTAL, ITEMS A-TT:				\$3,484,918.90

- 8. The bid line item pricing includes all the necessary excavation, backfill, grading, restoration, and removal of materials attendant upon the construction of the work, complete in place, and the disposal of all excess materials, and the final cleaning up of the work.
- 9. At the preconstruction conference, the BIDDER shall submit a complete detailed schedule of shop drawing submittals which will show lead time for:

Date of Planned submittal.

Date of anticipated receipt of review (usually three weeks after submittal).

Delivery lead time.

Anticipated installation date.

COMPLETE THE QUALIFICATIONS OF BIDDERS - CONSTRUCTION FORM IN BID ATTACHMENTS TAB. BIDDERS ARE TO COMPLETE FORM IN ITS ENTIRITY AND UPLOAD THE COMPLETED FORM TO THE RESPONSE ATTACHMENTS TAB FOR THE BID IN THE EBID SYSTEM

10. Qualifications Of Bidders

To demonstrate qualifications to perform the Work, and to be considered for award, each Bidder must submit written evidence, such as previous experience, present commitments and other such data as detailed under Bidder's Responsiveness and Responsibility section of the IFB (or in SUPPLEMENTARY CONDITIONS). Each Bid must contain evidence of Bidder's qualification to do business in the State where the Project is located or covenant to obtain such qualification prior to executing the Agreement.

10.1	How many years has your organization been in business as a Contractor? 39 Years
10.2	State of Florida Contractor's license #_ CGC1510306 Contractor License Types General Contractor
	Broward County Certificate of Competency #: Expiration Date:
10.3	Have you ever failed to complete work awarded to you? If Yes, where and why? No
	Have you personally inspected the proposed work and have you a complete plan for its rmance?
	Yes
10.5	Will you sub-contract any part of this work?YesNo

If Yes, list all proposed subcontractors to be used on this project if the Bidder is awarded the Contract for this project. The successful Bidder shall submit a COMPLETE list of any work that he proposes to subcontract and the proposed subcontractors prior to execution of the contract.

	SIFICATION OF WORK	NAME AND ADDRESS OF SUBCONTRACTOR			
CC	TV/Grout	Proline Vactor Services, Inc. PO Box 551149, Lake Worth, FL33454			
Lateral Lining BLD Services LLC, 2424 Tyler Street, Kenner, LA 70062					
(Subm	it any additional co	ntractors to be used on a separate sheet.)			
10.6	(a) Estimated total(b) Percent manhor(c) Percent manhor	ormation shall be provided for this project: I construction manhours23,500 urs to be performed by Contractor's permanent staff19,975 - 85% urs to be performed by direct hire employees urs to be performed by Subcontractors3,525 - 15%			
10.7	Equipment				
10.8	What equipment de	o you own that is available for the proposed work?			
	See attached	List of Equipment			
10.9	What equipment w	rill you rent for the proposed work?			
10.10	What equipment w	vill you purchase for the proposed work?			

11. List all work of similar type, complexity, and comparable value as requested under the Bidder's Responsiveness and Responsibility, Responsibility Documentation, Paragraph 2 Prior Project Experience and References of the IFB. (Attach additional information on separate sheet)

Project #1

Project Name Cured-In-Place Pipe Rehabilitation, Annual Contract Project Owner's Name City of Pompano Beach		
Owner's Address 1205 N.E.,, 5th Ave., Pompano Beach, FL 33060		
Phone Number (954) 786-5510 Email address <u>steve.almyda@copbfl.com</u>		
Contact information for the Project (if different from above)		
<u>Contact Person</u> <u>Phone Number</u> <u>Email Address</u>		
Mr. Steve Almyda (954) 786-5510 steve.almyda@copbfl.com		
Nature of Work CIPP Rehabilitation 23,429' of 8", 165' of 10", 548' of 12", 130' of 15"		
202' of 18" & 662' of 24"		
Original Contract Completion Time (Days) 365		
Original Contract Completion Date 2015		
Actual Final Contract Completion Date 2015		
Original Contract Price \$3,715,647.80		
Actual Final Contract Price \$926,585.90		
Description and Value of Work Completed by Contractor CIPP - 90%		
Description and Value of Work Completed by Subcontractors Clean & TV - 10%		
Project #2 Project Name Two Year Countywide Contract with option to renew for Two Additional Years Project Owner's Name Miami-Dade County		
Owner's Address 3071 SW 38th Ave., Miami, FL 33146		
Phone Number (305) 903-5712 Email address isaac.smith@miamidade.gov		
Contact information for the Project (if different from above)		
Contact Person Phone Number Email Address Isaac Smith		

3,930' of 15", 225' of 18", 1,585' of 21', & 2,702' of 24"
Original Contract Completion Time (Days)730
Original Contract Completion Date 2 Year Contract and 2 - one year renewals
Actual Final Contract Completion Date Oct. 2019
Original Contract Price \$5,910,082.65
Actual Final Contract Price \$4,927,234.16
Description and Value of Work Completed by Contractor CIPP
Description and Value of Work Completed by Subcontractors CCTV, Grout, Lateral
Project #3
Project Name RFP-10-118-02209 CIPP Rehabilitation
Project Owner's Name _ City of Melbourne
Owner's Address 2891 Harper Road, Melbourne, FL 32904
Phone Number (321) 674-5726 Email address msimon@melbourneflorida.org
Contact information for the Project (if different from above)
<u>Contact Person</u> <u>Phone Number</u> <u>Email Address</u>
Mr. Matt Simon
Nature of Work _CIPP Rehabilitation _55,593' of 8", 5,586' of 10", 9,519' of 15', 1,298' of 18',
1,137' of 21", 562' of 24", 997' of 30", 688' of 36", & 1,129' of 42"
Original Contract Completion Time (Days) <u>365</u>
Original Contract Completion Date 2015
Actual Final Contract Completion Date 2015
Original Contract Price \$3,100,000.00
Actual Final Contract Price \$2,983,386.64
Description and Value of Work Completed by ContractorCIPP

Description and Value of Work Completed by Subcontractors_	Clean, TV & Grout	

REQUESTED INFORMATION BELOW IS ON THE ATTRIBUTES TAB FOR THE BID IN THE EBID SYSTEM. PROVIDE THIS INFORMATION ELECTRONICALLY.

12. Conflict Of Interest

<u>Conflict of Interest</u>: For purposes of determining any possible conflict of interest, all bidders must disclose if any City of Pompano Beach employee is also an owner, corporate officer, or employee of their business. Indicate either "Yes" (a City employee is also associated with your business), or "No". If answer is "Yes", you must file a statement with the Supervisor of Elections, pursuant to Florida Statutes 112.313.)

No ✓ Yes ___

END OF SECTION

REQUESTED CERTIFICATION BELOW IS ON THE ATTRIBUTES TAB FOR THE BID IN THE EBID SYSTEM, PROVIDE THIS INFORMATION ELECTRONICALLY.

STATEMENT UNDER SECTION 287.087 FLORIDA STATUTES, ON DRUG-FREE WORKPLACE

Preference must be given to Contractors submitting certification with their bid or proposal, certifying they have a drug-free workplace in accordance with Florida Statutes, Section 287.087. This requirement affects all public entities of the State and becomes effective January 1, 1991.

Preference shall be given to businesses with drug-free workplace programs. Whenever two or more bids which are equal with respect to price, quality and service are received by the State or by any political subdivision for the procurement of commodities or contractual services, a bid received from a business that certifies that it has implemented a drug-free workplace program shall be given preference in the award process. Established procedures for processing tie bids will be followed if none of the tied vendors have a drug-free workplace program. In order to have a drug-free workplace program, a business shall:

- (1) Publish a statement notifying employees that the unlawful manufacture, distribution, dispensing, possession, or use of a controlled substance is prohibited in the workplace and specifying the actions that will be taken against employees for violations of such prohibition.
- (2) Inform employees about the dangers of drug abuse in the workplace, the business's policy of maintaining a drug-free workplace, any available drug counseling, rehabilitation and employee assistance programs, and the penalties that may be imposed upon employees for drug abuse violations.
- (3) Give each employee engaged in providing the commodities or contractual services that are under bid, a copy of the statement specified in subsection (1).
- (4) In the statement specified in subsection (1) notify the employees that as a condition of working on the commodities or contractual services that are under bid, the employee will abide by the terms of the statement and will notify the employer of any conviction of, or plea of guilty or nolo contendere to, any violation of Chapter 893 or of any controlled substance law of the United States or any state, for a violation occurring in the workplace, no later than five (5) days after such conviction.
- (5) Impose a sanction on, or require the satisfactory participation in, a drug abuse assistance or rehabilitation program if such is available in the employee's community, by an employee who is so convicted.
- (6) Make a good faith effort to continue to maintain a drug-free workplace through implementation of this section.

that his firm complies with the above requirements.
Diane Partridge, Contracting and Attesting Officer
CONTRACTOR'S PRINTED NAME

REQUESTED CERTIFICATION BELOW IS ON THE ATTRIBUTES TAB FOR THE BID IN THE EBID SYSTEM. PROVIDE THIS INFORMATION ELECTRONICALLY.

VENDOR CERTIFICATION REGARDING SCRUTINIZED COMPANIES LISTS

Respondent Vendor Name: Insituform Technologies, LLC
13-3032158 Vendor FEIN:
Section 287.135, Florida Statutes, prohibits agencies from contracting with companies, for goods of
services over \$1,000,000, that are on either the Scrutinized Companies with Activities in Sudan List of the Scrutinized Companies with Activities in the Iran Petroleum Energy Sector List.
As the person authorized to sign on behalf of Respondent, I hereby certify that the company identified
above is not listed on either the Scrutinized Companies with Activities in Sudan List or the Scrutinized
Companies with Activities in the Iran Petroleum Energy Sector List. I understand that pursuant to section 287.135, Florida Statutes, the submission of a false certification may subject company to civil penalties
attorney's fees, and/or costs. Certified By:
Certified By: Near Survey
Authorized Signature Print Name and Title: Diane Partridge, Contracting and Attesting Officer

City of Pompano Beach Florida

Local Business Subcontractor Utilization Report

Project Name (1)			Contract Number and	Contract Number and Work Order Number (if applicable) (2)	applicable) (2)	
Report Number (3)		Reporting Period (4)	Local Business Contract Goal (5)	ıct Goal (5)	Estimated Contract Completion Date (6)	Completion Date (6)
Contractor Name (7)			Contractor Telephone Number (8)	Number (8)	Contractor Email Address (9)	ddress (9)
Contractor Street Address (10)	ddress (10)	Project Manager Name (11)	Project Manager Telephone Number (12)	ohone Number (12)	Project Manager Email Address (13)	nail Address (13)
Local Business	Local Business Payment Report					
Federal Identification Number (14)	Local Subcontractor Business Name (15)	Description of Work (16)	Project Amount (ग7)	Amount Paid this Reporting Period (18)	Invoice Number (19)	Total Paid to Date (20)
			Total Paid to Date for All Local Business Subcontractors (21) \$	II Local Business Subc	contractors (21) \$	0.00

| Contractor Name - Authorized Personnel (print) (22) | Contractor Name - Authorized Personnel (sign) (23)

Date (25) Title (24)

Local Business Subcontractor Utilization Report Instructions

- Box (1) Project Name Enter the entire name of the project.
- Box (2) Contract Number (work order) Enter the contract number and the work order number, if applicable.
- **Box (3)** Report Number Enter the Local Business Subcontractor Utilization Report number. Reports must be in a numerical series (i.e., 1, 2, 3).
- Box (4) Reporting Period Enter the beginning and end dates this report covers (i.e., 10/01/2016 11/01/2016).
- Box (5) Local Contract Goal Enter the Local Contract Goal percentage on entire contract.
- Box (6) Contract Completion Date Enter the expiration date of the contract, (not work the order).
- Box (7) Contractor Name Enter the complete legal business name of the Prime Contractor.
- Box (8) Contractor Telephone Number Enter the telephone number of the Prime Contractor.
- Box (9) Contractor Email Address Enter the email address of the Prime Contractor.
- Box (10) Contractor Street Address Enter the mailing address of the Prime Contractor.
- **Box (11)** Project Manager Name Enter the name of the Project Manager for the Prime Contractor on the project.
- **Box (12)** Project Manager Telephone Number Enter the direct telephone number of the Prime Contractor's Project Manager.
- **Box (13)** Project Manager Email Address Enter the email address of the Prime Contractor's Project Manager.
- **Box (14)** Federal Identification Number Enter the federal identification number of the Local Subcontractor(s).
- Box (15) Local Subcontractor Business Name Enter the complete legal business name of the Local Subcontractor(s).
- **Box (16)** Description of Work Enter the type of work being performed by the Local Subcontractor(s) (i.e., electrical services).
- **Box (17)** Project Amount Enter the dollar amount allocated to the Local Subcontractor(s) for the entire project (i.e., amount in the subcontract agreement).
- Box (18) Amount Paid this Reporting Period Enter the total amount paid to the Local Subcontractor(s) during the reporting period.
- Box (19) Invoice Number Enter the Local Subcontractor's invoice number related to the payment reported Page 37

this period.

- Box (20) Total Paid to Date Enter the total amount paid to the Local Subcontractor(s) to date.
- Box (21) Total Paid to Date for All Local Subcontractor(s) Enter the total dollar amount paid to date to all Local Subcontractors listed on the report.
- Box (22) Contractor Name Authorized Personnel (print) Print the name of the employee that is authorized to execute the Local Subcontractor Utilization Report.
- Box (23) Contractor Name Authorized Personnel (sign) Signature of authorized employee to execute the Local Subcontractor Utilization Report.
- Box (24) Title Enter the title of authorized employee completing the Local Subcontractor Utilization Report.
- Box (25) Date Enter the date of submission of the Local Subcontractor Utilization Report to the City.

Exhibit D - Contractor's Response

LOCAL BUSINESS PARTICIPATION GOAL ANNOUNCEMENT

BID # T-01-20

The City of Pompano Beach is **strongly committed** to ensuring the participation of City of Pompano Beach Businesses as contractors and subcontractors for the procurement of goods and services, including labor, materials and equipment.

Bidders are required to participate in the City of Pompano Beach's Local Business Program by including, as part of their bid package, the Local Business Participation Form (Exhibit "A"), and the Letter of Intent Form (Exhibit "B").

Bidders should utilize businesses that, for a minimum of one year, are physically located in the City of Pompano Beach with a current Business Tax Receipt, whose permanent place of business may not be a post office box. The business must be located in a non-residential zone, and must actually distribute goods or services from that location. The business must be staffed with full-time employees within the limits of the city.

You can view the list of City businesses that have a current Business Tax Receipt on the City's website, and locate local firms that are available to perform the work required by the bid specifications. The business information, sorted by business use classification, is posted on the webpage for the Business Tax Receipt Division: www.pompanobeachfl.gov by selecting the Pompano Beach Business Directory in the Shop Pompano! section.

Bidders who are unable to meet the local business goals should also demonstrate and document that good faith efforts were made to achieve the goal by providing the Local Business Unavailability Form (Exhibit C), listing firms that were contacted but not available, and the Good Faith Effort Report (Exhibit D), describing the efforts made to include local business participation in the contract.

The required goal for this bid is 10% for Local Businesses.

REQUESTED INFORMATION BELOW IS ON LOCAL BUSINESS PROGRAM FORM ON THE BID ATTACHMENTS TAB. BIDDERS ARE TO COMPLETE FORM IN ITS ENTIRITY AND INCLUDE COMPLETED FORM IN YOUR PROPOSAL THAT MUST BE UPLOADED TO THE RESPONSE ATTACHMENTS TAB IN THE EBID SYSTEM.

LOCAL BUSINESS EXHIBIT "A" CITY OF POMPANO BEACH, FLORIDA LOCAL BUSINESS PARTICIPATION FORM

Solicitation Number & Title: <u>T-01-20 City of Pompano CIPP Rehabilitation Annual Contract</u> Prime Contractor's Name: <u>Insituform Technologies, LLC</u>

Name of Firm Address	Contact Person,	Type of Work to be Performed/Materials to be	Contract
Name of Firm, Address	Telephone Number	<u>Purchased</u>	<u>Amount</u>
Not Applicable	N/A	Not Applicable Please see attached good faith effort	s N/A

LOCAL BUSINESS EXHIBIT "B" LOCAL BUSINESS LETTER OF INTENT TO PERFORM AS A LOCAL SUBCONTRACTOR

		Bid Number <u>T-</u> (01-20
TO:			
TO: (Name of P	rime or General Bidde	<u>r)</u>	
_	City of Pompano Beach le above contract as (cl	n business intends to perform subcontra heck below)	cting work in
an ir	ndividual	a corporation	
а ра	rtnership	a joint venture	
	is prepared to perform after described in detail	the following work in connection with the	above
N/A - N	lot Applicable - Please	see attached letter and good faith effor	ts
at the following pr	ice:		
(Date)		(Name of Local Business Contractor)	_
		(address)	_
		(address City, State Zip Code)	_
	BY:	(Name)	_

LOCAL BUSINESS EXHIBIT "C LOCAL BUSINESS UNAVAILABILITY FORM

BID# ⁻	Γ-01-20		

I, Ken Boeh - Business Development Mana (Name and Titl	
(Ivaille allu Titi	6)
of <u>Insituform Technologies, LLC.</u> , certify that	at on the <u>15</u> day of
<u>November</u> , <u>2019</u> , I invited the following LOCAL BU items to be performed in the City of Pompano Beach:	SINESSES to bid work
Business Name, Address Work Items Sought	Form of Bid Sought (i.e., Unit Price, Materials/Labor, Labor Only, etc.)
Televac South Clean and TV/Spot L	iner Unit Price
221 NE 13th St	
Pompano Beach FL 33060	
This was the only viable bidding firm for the items rec	quired from subcontractors
on this project. The basis for our search was the 50	0+ page list provided by the
city on their website provided in these documents.	
Said Local Businesses:	
Did not bid in response to the i	invitation
_ Submitted a bid which was not	t the low responsible bid
Other:	
Name and Title: <u>Ken Boeh B</u>	usiness Development Manager
Date: <u>11/18/2019</u>	

Note: Attach additional documents as available.

LOCAL BUSINESS EXHIBIT "D" GOOD FAITH EFFORT REPORT LOCAL BUSINESS PARTICIPATION

BID #_ T-01-20

1.	What portions of the contract have you identified as Local Business opportunities?
	Being a vertically integrated specialty contractor that manufacturers and
	Installs our own materials, our local utilization opportunities are in the subcontractor
	community, which is also very specialized. The only work identified was
	Vactor Cleaning and CCTV Inspection and Lateral Lining
2.	Did you provide adequate information to identified Local Businesses? Please comment on how you provided this information.
	Based off of the list provided by the city we emailed all pertinent
	Bid information and documentation via Email and phone calls.
3.	Did you send written notices to Local Businesses?
	<u>Y</u> Yes No
	If yes, please include copy of the notice and the list of individuals who were forwarded copies of the notices. See attached
4.	Did you advertise in local publications?
	Yes <u>N</u> _No
	If yes, please attach copies of the ads, including name and dates of publication.
5.	What type of efforts did you make to assist Local Businesses in contracting with
	you ? I followed up by phone with any viable options and emailed accordingly.
7.	List the Local Businesses you will utilize and subcontract amount.

Page 44

Exhibit D - Contractor's Response

N/A	_ \$0
	\$
	\$
Other comments:	
LOCAL DUOINEGO EVIUDIT "D" D	
LOCAL BUSINESS EXHIBIT "D" – Pag	<u>e 2</u>
Please see the attached attempts to u	utilize local businesses and a
•	

From: Kenny Boeh

To: televacsouth@bellsouth.net

Subject: RFQ - Pompano Beach, FL -Bid T-01-20, Cured-In-Place Rehabilitation, Annual Contract

Date: Monday, November 18, 2019 9:13:00 AM

Attachments: image001.png

Importance: High

To: Estimating Department

Our company is preparing to bid on the - Pompano Beach, FL -Bid T-01-20, Cured-In-Place Rehabilitation, Annual Contract.

WE NEED YOUR QUOTE FOR ANY OF THE FOLLOWING SERVICES USING AN APPROVED APPRENTICSHIP PROGRAM PARTICIPANT:

Cleaning and CCTV of Sewer Lines

Traffic Control (Cones, light towers, flagmen, arrow

board, barricades, variable message board etc.)

Bypass Pumping

Sectional Liners

Lateral Liners

Please see the following link to a site where the plans & specifications are available for free. https://iticloud.egnyte.com/fl/wWxYI7EsZK

Our goal is to receive a positive response from your firm regarding any or all of the above items. Please check the boxes below to indicate if your firm is interested in submitting a quote or not and return to kboeh@aegion.com

If Applicable, please provide a copy of your apprenticeship certification with your quote.

Firm Name:					
	We are interested in providing a quote for				
	We are not interested in providing a quote for these items.				

Please send any questions or requests to kboeh@aegion.com.

Subcontractors on this project must adhere to the requirements are set forth in the project specifications.

Quotes for the project are due no later than <u>November 19 2019 @ 12:00 p.m.</u> so your prompt attention is necessary

*In accordance with the specifications, the Bidders on this project are required to demonstrate compliance with use of a minimum 10% local business participation from approved businesses. Accordingly, our company is reaching out to qualified

subcontracting

Regards,

Kenny Boeh | Business Development Manager, Florida South | Insituform Technologies, LLC 3016 North US Highway 301, Suite #900 | Tampa, FL 33619

Cell: 412-310-8826 | Fax: 813.381.5356 | www.Aegion.com

kboeh@aegion.com







17988 Edison Avenue Chesterfield, MO 63005 www.insituform.com Kenny Boeh Business Development Manager Florida South Region Phone: (412) 310-8826 Fax: (813) 627-0006 Email: kboeh@aegion.com

Insituform Technologies, LLC is a subsidiary of Aegion Corporation

11/12/2019

City of Pompano Beach 1205 N.E. 5th Ave. Pompano Beach, FL 33060

RE:T-01-20 Cured-In-Place Pipe Rehabilitation Annual Contract – Local Business Participation and Utilization

To Whom it may concern,

Insituform Technologies, LLC (a subsidiary of Aegion Corporation) is pleased to offer our proposal for the City of Pompano Beach T-01-20 Cured-In-Place Pipe Rehabilitation Annual Contract. As a strong supporter of diversity, local community impact, and construction industry growth - Insituform strives to fulfill project requirements regarding Local Labor force utilization. Pursuant to the 10% Local Business Participation requirements on the project, please find the following clarifications to our actions, and ability to meet the project requirements:

Local Business Participation

Due to the specialty nature of Cured-in-Place-Pipe (CIPP) Rehabilitation, our workforce (as well as the workforce of our subcontractors) tends to be static, and our employee retention is high - due in part to significant training and safety investments in our workers. Because of this, our crew count and employee numbers don't increase on a job-specific basis, and we don't have the need to hire additional workers on a project by project basis like some non-specialty trades do.

Operations for all CIPP/rehabilitation projects in South Florida are handled out of our offices in Miami, which provide adequate resources for our current and estimated future workloads. Our crews are also some of the most efficient in the industry, all while maintaining industry leading quality standards, maintained by our ISO:9001 manufacturing, wetout, and installation processes – a rare combined offering in our industry.

As the largest provider of Cured-in-Place Pipe (CIPP) rehabilitation services in the world, one of our biggest strengths lies in our resources and crew capacity. In the State of Florida alone, Insituform employs six to seven experienced crews, three of which are based out of the South Florida office. Additional Insituform crews are located in Tampa, and Jacksonville, FL, throughout the Southeast United States, and around the country. Should the need for additional crews arise, we have the ability to rotate crews in and out, and shift resources to areas and projects that need them the most. Insituform's crew count, material manufacturing, and wetout resources are hands down the most robust in the industry.

As a vertically integrated company, we employ the finest in-house resources for engineering/design, manufacturing, wetout, and installation and control every step of the process. So if a project needs to be expedited, we have the ability to speed liner manufacturing and wetout processes to ensure timely installation and project completion. When competitors have needs or issues, there are a variety of manufacturers, suppliers, wetout locations and installers involved to navigate through, which can be messy

and involve a lot of finger pointing. If there is a need with Insituform, you have one point of contact, and a single source working in concert to solve problems and meet client needs.

Because of this business model, to meet the Local Business Participation requirement, we've reviewed your cities current local business list provided on your website. This was done on both the Insituform (prime contractor) level, as well as on the subcontractor level. We reviewed the list provided by the city thoroughly and found no utility contractors which qualified themselves as experts in the specialty trades needed for this proposal. After our evaluations were performed, we have been unable to find viable options to meet the 10% Local Business utilization requirement with the current workforce of both Insituform crew members, as well as crew members of our subcontractors. * One qualified subcontractor was identified however was non responsive as noted in the forms above. As this project progresses Insituform is willing to give equal opportunity to any additional approved vendors that may be identified. Should you have any questions and/or concerns regarding our fulfillment of these requirements, or if any additional information regarding Insituform/Aegion's internal processes is needed, please do not hesitate to contact me.

Very truly yours,

Insituform Technologies, LLC.

Kenny Boeh

Business Development Manager

City of Pompano Beach Florida Local Business Subcontractor Utilization Report

Project Name (1)			Contract Number and Work Order Number (if applicable) (2)				
]	N/A - As the contractor ur	post bid purposes.					
Report Number (3)		Reporting Period (4)	Local Business Contra	act Goal (5)	Estimated Contract	Completion Date (6)	
		to				* **	
Contractor Name (7)			Contractor Telephone	Number (8)	Contractor Email A	Address (9)	
		() -					
Contractor Street Address (10)		Project Manager Name (11)	Project Manager Telephone Number (12)		Project Manager Email Address (13)		
			() -		W 1997 94 8		
Local Business	Payment Report						
Federal			_	Amount Paid			
Identification	Local Subcontractor	Description of Work (16)	Project Amount (17)	this Reporting	Invoice	Total Paid to	
Number (14)	Business Name (15)	14951	Alliount (17)	Period (18)	Number (19)	Date (20)	
	No.						
		N/A at time of bid					
Total Paid to Date for All Local Business Subcontractors (21) \$				contractors (21) \$	0.00		
I certify that the	above information is true to	the hest of my knowledge				20.000000000000000000000000000000000000	
	uthorized Personnel (print) (22)	Contractor Name – Authorized Personnel (sign) (23)	Title (24)			Date (25)	
Contractor Name - Authorized Fersonner (print) (22)			(24)			Date (20)	

Local Business Subcontractor Utilization Report Instructions

- Box (1) Project Name Enter the entire name of the project.
- Box (2) Contract Number (work order) Enter the contract number and the work order number, if applicable.
- **Box (3)** Report Number Enter the Local Business Subcontractor Utilization Report number. Reports must be in a numerical series (i.e., 1, 2, 3).
- **Box (4)** Reporting Period Enter the beginning and end dates this report covers (i.e., 10/01/2016 11/01/2016).
- Box (5) Local Contract Goal Enter the Local Contract Goal percentage on entire contract.
- Box (6) Contract Completion Date Enter the expiration date of the contract, (not work the order).
- Box (7) Contractor Name Enter the complete legal business name of the Prime Contractor.
- Box (8) Contractor Telephone Number Enter the telephone number of the Prime Contractor.
- Box (9) Contractor Email Address Enter the email address of the Prime Contractor.
- Box (10) Contractor Street Address Enter the mailing address of the Prime Contractor.
- **Box (11)** Project Manager Name Enter the name of the Project Manager for the Prime Contractor on the project.
- Box (12) Project Manager Telephone Number Enter the direct telephone number of the Prime Contractor's Project Manager.
- **Box (13)** Project Manager Email Address Enter the email address of the Prime Contractor's Project Manager.
- **Box (14)** Federal Identification Number Enter the federal identification number of the Local Subcontractor(s).
- Box (15) Local Subcontractor Business Name Enter the complete legal business name of the Local Subcontractor(s).
- **Box (16)** Description of Work Enter the type of work being performed by the Local Subcontractor(s) (i.e., electrical services).
- **Box (17)** Project Amount Enter the dollar amount allocated to the Local Subcontractor(s) for the entire project (i.e., amount in the subcontract agreement).
- Box (18) Amount Paid this Reporting Period Enter the total amount paid to the Local Subcontractor(s) during the reporting period.
- Box (19) Invoice Number Enter the Local Subcontractor's invoice number related to the payment reported Page 37

this period.

- Box (20) Total Paid to Date Enter the total amount paid to the Local Subcontractor(s) to date.
- Box (21) Total Paid to Date for All Local Subcontractor(s) Enter the total dollar amount paid to date to all Local Subcontractors listed on the report.
- Box (22) Contractor Name Authorized Personnel (print) Print the name of the employee that is authorized to execute the Local Subcontractor Utilization Report.
- Box (23) Contractor Name Authorized Personnel (sign) Signature of authorized employee to execute the Local Subcontractor Utilization Report.
- Box (24) Title Enter the title of authorized employee completing the Local Subcontractor Utilization Report.
- Box (25) Date Enter the date of submission of the Local Subcontractor Utilization Report to the City.

TIER 1/TIER 2 COMPLIANCE FORM

IN ORDER FOR YOUR FIRM TO COMPLY WITH THE CITY'S LOCAL BUSINESS PROGRAM AS A TIER 1 OR TIER 2 VENDOR, BIDDERS MUST COMPLETE THE INFORMATION BELOW AND UPLOAD THE FORM TO THE RESPONSE ATTACHMENTS TAB IN THE EBID SYSTEM.

TIER 1 LOCAL VENDOR				
My firm has maintained a permanent place of business within limits and maintains a staffing level, within this local office, of at leas who are residents of the City of Pompano Beach.				
	And/Or			
	My firm has maintained a permanent place of business within the city limits and my submittal includes subcontracting commitments to Local Vendors Subcontractors for at least 10 % of the contract value.			
	Or			
	My firm does not qualify as a Tier 1 Vendor.			
	TIER 2 LOCAL VENDOR			
	My firm has maintained a permanent place of business within Broward County and maintains a staffing level, within this local office, of at least 15% who are residents of the City of Pompano Beach			
	And/Or			
	My firm has maintained a permanent place of business within Broward County and my submittal includes subcontracting commitments to Local Vendors Subcontractors for at least 20% of the contract value.			
	Or			
	My firm does not qualify as a Tier 2 Vendor.			
L	certify that the above information is true to the best of my knowledge.			
2,	2019 Insituform Technologies, LLC			
(D	ate) (Name of Firm)			
	BY: Wiane Tarkida			
	Diane Partridge(Name) Contracting and Attesting Officer			

BID BOND

STATE OF FLORIDA)		
	SS		
)		
KNOW ALL MEN BY TH	HESE PRESENTS, that we,Insituf	form Technologies, LLC	
17988 Edison Avenue, Ches	terfield, MO 63005	as principal, a	and
Travelers Casualty and Surety	y Company of America, One Tower Squ	uare, Hartford, CT 06183	
		City of Pompano Beach, Pompano Bea	
	of Five Percent of the Amount Bid	Dollars	Hei
	bind ourselves, our heirs, executors,	of America, for the payment of which was, administrators, successors and assign	
WHEDEAS the Dringing!	contompletes submitting or has s	submitted a Did to the OWNED for	41. ~

WHEREAS, the Principal contemplates submitting or has submitted a Bid to the OWNER for the furnishing of all labor, materials, equipment, machinery, tools, apparatus, means of transportation for, and the performance of the work covered in the Proposal and the detailed Drawings and Specifications, entitled:

(Bid Name) Bid T-01-20, Cured-In-Place Pipe Rehabilitation Annual Contract

WHEREAS, it was a condition precedent to the submission of said bid that a cashier's check or bid bond in the amount of 5 percent of the base bid be submitted with said bid as a guarantee that the Bidder would, if awarded the Contract, enter into a written Contract with the OWNER for the performance of said Contract, within 10 consecutive calendar days after written notice having been given of the award of the Contract.

NOW, THEREFORE, the conditions of this obligation are such that is the Principal within 10 consecutive calendar days after written notice of such award being given to Principal, enters into the contract to such award and gives a Performance and Payment Bond, each in an amount equal to 100 percent of the base bid, satisfactory to the OWNER, then this obligation shall be void; in the event of the failure of Principal to enter into such contract and bond, the sum herein stated shall be due and payable to the OWNER and the Surety herein agrees to pay the sum immediately upon demand of the OWNER in good and lawful money of the United States of America, as liquidated damages for failure thereof of said Principal; otherwise, it shall remain in full force and effect.

IN WITNESS WHEREOF, the saidInsi	ituform Technologies, LLC		
as Principal herein, has caused these pres	sents to be signed in the name b	y its Contracting & Atte	sting Officer
and attested by its Contr	acting & Attesting Officer	under its corpo	orate seal,
and the said _Travelers Casualty and Surety	Company of America		
	ety herein, has caused these pre	esents to be signed in its	name by
its Attorney-in-Fact	,		
under its corporate seal, this	day of _ November	A.D. 2019	(year)
Signed, sealed and delivered in the presence of: Janet Hass, Witness As to Principal	Principal - By:	echnologies, LLC And Jones of the South Contracting & Attention of the South Contrac	esting Officer
Ashley Miller, Witness	By: Andrew P, Thom (Power-of-A By: Lathur		pany of America —

END OF SECTION

State of <u>Missouri</u> County of <u>St. Louis</u>

On <u>November 19, 2019</u>, before me, a Notary Public in and for said County and State, residing therein, duly commissioned and sworn, personally appeared <u>Andrew P. Thome</u> known to me to be Attorney-in-Fact of

TRAVELERS CASUALTY AND SURETY COMPANY OF AMERICA

the corporation described in and that executed the within and foregoing instrument, and known to me to be the person who executed the said instrument in behalf of said corporation, and he duly acknowledged to me that such corporation executed the same.

IN WITNESS WHEREOF, I have hereunto set my hand and affixed my official seal, the day and year stated in this certificate above.

Ashley Miller, Notary Public

ASHLEY MILLER
NOTARY PUBLIC - NOTARY SEAL
STATE OF MISSOURI
COMMISSIONED FOR ST. LOUIS COUNTY
MY COMMISSION EXPIRES DEC. 21, 2021
ID #13556557

My Commission Expires:



Travelers Casualty and Surety Company of America Travelers Casualty and Surety Company St. Paul Fire and Marine Insurance Company

POWER OF ATTORNEY

KNOW ALL MEN BY THESE PRESENTS: That Travelers Casualty and Surety Company of America, Travelers Casualty and Surety Company, and St. Paul Fire and Marine Insurance Company are corporations duly organized under the laws of the State of Connecticut (herein collectively called the "Companies"), and that the Companies do hereby make, constitute and appoint Andrew P. Thome, of Chesterfield, Missouri, their true and lawful Attorney-in-Fact to sign, execute, seal and acknowledge any and all bonds, recognizances, conditional undertakings and other writings obligatory in the nature thereof on behalf of the Companies in their business of guaranteeing the fidelity of persons, guaranteeing the performance of contracts and executing or guaranteeing bonds and undertakings required or permitted in any actions or proceedings allowed by law.

IN WITNESS WHEREOF, the Companies have caused this instrument to be signed, and their corporate seals to be hereto affixed, this 3rd day of February, 2017.







State of Connecticut

City of Hartford ss.

By: Robert L. Raney, Senior Vice President

On this the 3rd day of February, 2017, before me personally appeared Robert L. Raney, who acknowledged himself to be the Senior Vice President of Travelers Casualty and Surety Company of America, Travelers Casualty and Surety Company, and St. Paul Fire and Marine Insurance Company, and that he, as such, being authorized so to do, executed the foregoing instrument for the purposes therein contained by signing on behalf of the corporations by himself as a duly authorized officer.

In Witness Whereof, I hereunto set my hand and official seal.

My Commission expires the 30th day of June, 2021



Marie C. Tetreault, Notary Public

This Power of Attorney is granted under and by the authority of the following resolutions adopted by the Boards of Directors of Travelers Casualty and Surety Company of America, Travelers Casualty and Surety Company, and St. Paul Fire and Marine Insurance Company, which resolutions are now in full force and effect, reading as follows:

RESOLVED, that the Chairman, the President, any Vice Chairman, any Executive Vice President, any Senior Vice President, any Vice President, any Second Vice President, the Treasurer, any Assistant Treasurer, the Corporate Secretary or any Assistant Secretary may appoint Attorneys-in-Fact and Agents to act for and on behalf of the Company and may give such appointee such authority as his or her certificate of authority may prescribe to sign with the Company's name and seal with the Company's seal bonds, recognizances, contracts of indemnity, and other writings obligatory in the nature of a bond, recognizance, or conditional undertaking, and any of said officers or the Board of Directors at any time may remove any such appointee and revoke the power given him or her; and it is

FURTHER RESOLVED, that the Chairman, the President, any Vice Chairman, any Executive Vice President, any Senior Vice President or any Vice President may delegate all or any part of the foregoing authority to one or more officers or employees of this Company, provided that each such delegation is in writing and a copy thereof is filed in the office of the Secretary; and it is

FURTHER RESOLVED, that any bond, recognizance, contract of indemnity, or writing obligatory in the nature of a bond, recognizance, or conditional undertaking shall be valid and binding upon the Company when (a) signed by the President, any Vice Chairman, any Executive Vice President, any Senior Vice President or any Vice President, any Second Vice President, the Treasurer, any Assistant Treasurer, the Corporate Secretary or any Assistant Secretary and duly attested and sealed with the Company's seal by a Secretary or Assistant Secretary; or (b) duly executed (under seal, if required) by one or more Attorneys-in-Fact and Agents pursuant to the power prescribed in his or her certificate or their certificates of authority or by one or more Company officers pursuant to a written delegation of authority; and it is

FURTHER RESOLVED, that the signature of each of the following officers: President, any Executive Vice President, any Senior Vice President, any Vice President, any Assistant Vice President, any Assistant Secretary, and the seal of the Company may be affixed by facsimile to any Power of Attorney or to any certificate relating thereto appointing Resident Vice Presidents, Resident Assistant Secretaries or Attorneys-in-Fact for purposes only of executing and attesting bonds and undertakings and other writings obligatory in the nature thereof, and any such Power of Attorney or certificate bearing such facsimile signature or facsimile seal shall be valid and binding upon the Company and any such power so executed and certified by such facsimile signature and facsimile seal shall be valid and binding on the Company in the future with respect to any bond or understanding to which it is attached.

I, Kevin E. Hughes, the undersigned, Assistant Secretary of Travelers Casualty and Surety Company of America, Travelers Casualty and Surety Company, and St. Paul Fire and Marine Insurance Company, do hereby certify that the above and foregoing is a true and correct copy of the Power of Attorney executed by said Companies, which remains in full force and effect.

Dated this 19

day of November

2019







Har E. Hugher Kevin E. Hughes, Assistant Secretary

To verify the authenticity of this Power of Attorney, please call us at 1-800-421-3880, Please refer to the above-named Attorney-in-Fact and the details of the bond to which the power is attached.